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(3) ARBERER
O ZBILHRE (SO,: AJIE)

EﬁT %" EHE R 204 TER214E
G _ 48 | 58 | 6A | 78 | 8A | 98 [10A | 11A [128 | 1A [ 28 | 3A [ Rit
3E AxhBIE B 30 31 30 31 31 30 30 30 31 31 27 31 363
- B 7E B el 712] 735 714] 7371 7371 711 731] 714] 739] 738] 659] 735 8662
E o A F15{E(ppm) 0.002] 0.002] 0.001] 0.002] 0.001] 0.001] 0.001] 0.001] 0.002] 0.002] 0.002] 0.002] 0.002
i) % 1EFRBED 0.1ppmZF B X - 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
| = | BFEHEA 0.04ppmZEHEZ - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1'3 1B EHED RS E(epm) 0.035] 0.025| 0.019] 0.023] 0.019] 0.017] 0.015] 0.019] 0.013] 0.013] 0.016] 0.019] 0.035
H 3 5{E D i = {E (ppm) 0.006/ 0.006] 0.003] 0.003] 0.004] 0.004] 0.002] 0.003] 0.004] 0.004f 0.005] 0.004] 0.006
EAEBRE 30 31 30 31 31 27 29 30 31 31 28 30 359
8 B 7E B e 711 7391 713| 735 734 676 719 715] 735 735 665 730 8607
T h A F15{E(ppm) 0.002] 0.001] 0.001] 0.002] 0.001] 0.001] 0.001] 0.002] 0.002] 0.002] 0.002] 0.001] 0.001
R | o [ 1 BEFEE AN 0.1ppmZ#E X - BRI K 0 0 0 0 0 0 0 0 0 0 0 0 0
Hh fi BEHIED 0.04ppmEHEZT-B 0 0 0 0 0 0 0 0 0 0 0 0 0
1R EED RS E(ppm) 0.023| 0.014] 0.017] 0.028] 0.019] 0.012] 0.011] 0.016] 0.013] 0.013] 0.028] 0.011] 0.028
H E#{E D &= = {iE (ppm) 0.005| 0.005] 0.003] 0.004] 0.003] 0.001] 0.002] 0.003[ 0.003[ 0.004] 0.004] 0.004] 0.005
AxhBIE HE 30 31 30 31 30 27 29 30 31 30 28 31| 358
#E (B %E B RS 709] 735 713] 732 729] 670 720 713] 733] 728 665] 734] 8581
ZE | FE | B F 9B (ppm) 0.003] 0.003] 0.002] 0.004] 0.003] 0.003] 0.002] 0.002] 0.003] 0.003] 0.003] 0.002] 0.003
R (1 EREA 0.1ppmZ B Z 1-Er 513X 0 0 0 0 0 0 0 0 0 0 0 0 0
i |1# | B FH{EA 0.04ppmZEHEZ - B K 0 0 0 0 0 0 0 0 0 0 0 0 0
(1 B EED &S E(ppm) 0.04] 0.04] 0.048] 0.077] 0.068| 0.048] 0.039] 0027] 0035 0025 0029 0.03] 0.077
H 3 51{E D i = {E (ppm) 0.007] 0.01] 0.007] 0.011] 0.011] 0007] 0.007] 0.005| 0.006] 0.006| 0.006] 0.006| 0.011
7 EAEBRE 30 31 30 31 31 29 31 30 31 25 28 30 357
- B 7E B e 711  735]  712] 7371 736] 708 7371 712] 737 614] 666 731| 8536
(LB FEH{E(ppm) 0.002] 0.002] 0.001] 0.001] 0.002] 0.001] 0.002] 0.003] 0.002] 0.002] 0.002] 0.001] 0.002
4 Hﬁﬁ 1EFREA 0.1ppmZ B Z F-EFRI 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
|2 | B EHEA 0.04ppmZE B Z - Bk 0 0 0 0 0 0 0 0 0 0 0 0 0
1’3 1R EED RS E(ppm) 0.012] 0.026] 0.018] 0.012] 0.023| 0.023] 0.041] 0.035] 0.031] 0.018] 0025/ 0.01] 0.041
“BEHEDESE(pm) 0.004| 0.006] 0.003] 0.003] 0.005] 0.006] 0.004] 0.007[ 0.005] 0.006{ 0.003] 0.004] 0.007
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Al

S

oy | = HE 205 ERR214E
B _ 48 | 58 | 6A | 78 | 8A | 98 | 108 | 118 | 128 | 1A | 28 | 38 | Rt
* AxhBIE B 30 22 30 31 31 29 27 30 31 31 28 30 350
T B 7E B el 709] 572 708] 737 735/ 706] 678] 713] 736] 738] 668] 723 8423
H P A F15{E(ppm) 0.001| 0.001 0 0 o/ 0.001] 0.001] 0.001] 0.002] 0.001] 0.001] 0.002] 0.001
B\ [LEEEE A 0.1ppm% #82 1= B B 2 0 0 0 0 0 0 0 0 0 0 0 0 0
o1l 2 BEH{EA 0.04ppmZFEZ 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
A 1B RE D == E(ppm) 0.013] 0.007] 0.005] 0.01] 0.008] 0014] 0.017] 0013] 0.015] 001] 0.008] 0.018] 0.018
H F #91E D £ = {E (ppm) 0.003| 0.002] 0.001] 0.002] 0.001] 0.002] 0.004] 0004 0.006] 0.003[ 0.002] 0.004] 0.006
SR ERAEE 30 31 30 31 31 29 31 30 31 31 28 30 363
Al |78 %E K 708 735 712] 735 732] 704 736] 711] 736] 735] 666 729] 8639
B |/ A EH5{E(ppm) 0.002] 0.002] 0.002] 0.002] 0.001] 0.001] 0.001] 0.001] 0.002] 0.002] 0.003] 0.002] 0.002
@ |32 [1 EFR{EAY 0.1ppm&E #E Z F- RS 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
il HEH{EA 0.04ppmEFEZ - B 0 0 0 0 0 0 0 0 0 0 0 0 0
EZ1EMEDRSE(Ppm) 0.017[ 0.025] 0.026] 0.025] 0.022] 0.021] 0.015] 0.013] 0.024] 0.025| 0.022] 0.019] 0.026
(B EHBEDRSE(ppm) 0.005| 0.006] 0.004] 0.004] 0.003] 0.003] 0.004] 0.003] 0.005] 0.007{ 0.006] 0.005| 0.007
AxhBIE HE 30 31 30 31 31 29 31 30 31 31 28 30 363
A (B & BERE 711 738 712] 738 7371 706] 735] 712 7371 736] 667] 728 8657
B |5 |AFEH{E(Epm) 0.003] 0.002] 0.002] 0.002] 0.002] 0.002] 0.002] 0.004] 0.004] 0.004| 0.004] 0.003] 0.003
@ | 2|1 BEERR{EAY 0.1ppmZ #E Z 1-BFRE 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
m|R|BFEHEA 0.04ppmZEHEZ - B 0 0 0 0 0 0 0 0 0 0 0 0 0
£E 1 B3 REE D s = {E(ppm) 0.029] 0.019] 0.017] 0.015] 0.014] 0015] 0.012] 0.021] 0.028] 0.023] 0.023] 0.017] 0.029
H F #91E D £ = {E (ppm) 0.006/ 0.008] 0.003] 0.003] 0.004] 0.004] 0.005] 0.009] 0.008] 0.009] 0.008] 0.007] 0.009
AR REE 30 30 30 31 31 27 27 23 18 19 24 30[ 320
’fl B 7 B 712] 729 715] 736] 736] 686] 691] 647] 616] 639] 618] 731] 8256
=1 < [BFEHE@pm) 0.003] 0.002] 0.001] 0.002] 0.001] 0.001] 0.002] 0.005] 0.006] 0.009] 0.008] 0.003] 0.003
g3 v [1EFREAS 0.1ppmE B Z =R 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
T ’f B EHEA 0.04ppmZEFBZ - H K 0 0 0 0 0 0 0 0 0 0 0 0 0
5 [1FE B D & & fE(ppm) 0.044] 0.027] 0.042] 0.025] 0.02] 0.015] 0.032] 0.065] 0.044] 0.06] 0.069] 0.045] 0.069
| [BEHBEDRZE(ppm) 0.008| 0.007] 0.004] 0.004] 0.004] 0.003] 0.007[ 0014 0013[ 0.018] 002 0008 002
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—FEMEBRE (SO,: ARIE)

A

il —_— T e
oy | = HE 205 ERR214E
s _ 48 | 58 | 6A | 78 | 8A | 98 | 108 | 118 | 128 | 1A | 28 | 38 | Rt
AxhBIE B 30 31 30 31 31 27 29 30 31 31 27 31 359
B ;A% iR 712] 737 7151 740 740] 682 721] 714 738] 740 663] 742 8644
%Fﬁzﬁﬁ]ﬁﬁ(ppm) 0.002] 0.002] 0.001] 0.002] 0.002] 0.001] 0.001] 0.001] 0.001] 0.001] 0.001] 0.001] 0.001
R 1 BFREIEAD 0.1ppmZ B X 7= B 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
|12 | B FH{EA 0.04ppmZEHEZ - B 0 0 0 0 0 0 0 0 0 0 0 0 0
(1 B EED &S E(ppm) 0.043| 0.036] 0.021] 0.042] 0.08] 0.033] 0.011] 0.013] 0.02] 002] 0028/ 0018/ 0.8
H 3 5{E D i = {E (ppm) 0.008] 0.005| 0.004] 0.006] 0.011] 0.004] 0.001] 0.002] 0.004] 0.005| 0.006] 0.004] 0.011
EAEBRE 30 31 30 31 31 30 30 30 31 31 28 30 363
;1 (B %E B R 714 7371 716] 738 741 715 734 713] 739 743] 669] 735 8694
B |2 B FEH{E(pm) 0.003] 0.002] 0.001] 0.002] 0.002] 0.002] 0.002] 0.003] 0.003] 0.003] 0.003] 0.002] 0.002
/M1 BB 0.1ppmZ B Z 1= FFE 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
B EHEA 0.04ppmEIEZ - Bk 0 0 0 0 0 0 0 0 0 0 0 0 0
B[ BEED RS E(Epm) 0.021] 0.024] 0.04] 0.021] 0.024] 0.017] 0.009] 0.025] 002] 0023] 0029] 0025 004
H E#1{E D &= = {E (ppm) 0.007] 0.005] 0.004] 0.004] 0.006] 0.003] 0.004] 0.004] 0.005[ 0.007[ 0.006] 0.005] 0.007
AxhBIE HE 30 31 30 31 31 30 30 30 31 31 25 30 360
0 I 7E B R 717] 739 716] 741 743] 719 736] 718] 741 742] 627 734] 8673
ﬁgiﬁﬁ ﬁH;PFiEﬁg%gppm) e TEEE 0.003] 0.005] 0.003] 0.002] 0.002] 0.002] 0.003] 0.003] 0.003] 0.003] 0.003] 0.002] 0.003
21 BERS{EA 0.1ppmZE B Z 1- A% 0 0 0 0 0 0 0 0 0 0 0 0 0
il g BEH{EA 0.04ppmZEHEZ - HEK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B RE D == 1E(ppm) 0.027] 0.035] 0.009] 0.009] 0.009] 0.007] 0.018] 0.048] 0.004] 0.004] 0.062] 0.006] 0.062
H FE M E D iz = {E(ppm) 0.005 0.01] 0.005/ 0.004] 0.003] 0.002] 0.005] 0.008] 0.003] 0.003] 0.008] 0.005] 0.01
25 EAEBRE 30 31 30 31 31 30 31 29 31 31 28 30 363
i B 7E B R 711]  738] 713] 736] 738] 713] 737 706] 736] 739 667] 733] 8667
HE - ﬁflzt’ﬁga(ppm) ., 0.001] 0.001 ol 0.001] 0.001] 0.001] 0.001] 0.001] 0.001] 0.001] 0.001] 0.001] 0.001
R | o [1BEE{EA 0.1ppmZHE X F-RFREI K 0 0 0 0 0 0 0 0 0 0 0 0 0
il EF HFHEA 0.04ppmZE B A - HE 0 0 0 0 0 0 0 0 0 0 0 0 0
B 1R EED RS E(ppm) 0.017[ 0.01] 0.003] 0.015] 0.01] 0.005] 0.011] 0.018] 0.021] 0.031] 0.012| 0.007| 0.031
1B EHEDRSE(Epm) 0.004| 0.003] 0.001] 0.002] 0.003] 0.002] 0.002] 0.003] 0.004] 0.004] 0.003] 0.002[ 0.004
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—FEMEBRE (SO,: ARIE)

GHE] - T e
oy | = HE 205 ERR214E
s _ 48 | 58 | 6A | 78 | 8A | 98 | 108 | 118 | 128 | 1A | 28 | 38 | Rt
AxhBIE B 30 31 30 31 31 30 31 23 31 31 28 30 357
# GR E SR 7201 741 720] 741 742] 7171 743] 572 739] 743] 672 738] 8588
0 3k [ B T 51E(ppm) 0.002| 0.002] 0.001] 0.002] 0.001] 0.001] 0.001] 0.002] 0.002] 0.002] 0.002] 0.001] 0.002
| B |1 EFREEA 0.1ppm%Z kB Z 1= BRI K 0 0 0 0 0 0 0 0 0 0 0 0 0
| 8E| B FEH{EA 0.04ppmZEHEZ - B K 0 0 0 0 0 0 0 0 0 0 0 0 0
B EEEDRSEEpm) 0.01| 0.044] 0.006] 0.029] 0.01] 0.009] 002] 0.08] 0.033] 0046/ 0.052] 0.006] 0.08
H E M E D ix = {E(ppm) 0.004| 0.01] 0.002] 0.007] 0.003] 0.003] 0.004] 0.01] 0.005/ 0.008] 0.008 0003 0.01
FRESBIRAEE: 30 31 30 30 31 27 29 30 31 31 28 31| 359
5 |87 B 717 741 718] 735 742| 687 724 717[ 741| 742[ 670] 740 8674
=) f‘g A F15{E(ppm) 0.004] 0.004] 0.003] 0.002] 0.001] 0.001] 0.003] 0.003] 0.003] 0.004] 0.004] 0.004] 0.003
g | % (1 BFREME A 0.1ppmZe i X 1B ] 38 0 0 0 0 0 0 0 0 0 0 0 0 0
|- [BEHED 0.04ppmZEFIBZT-BH 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
5 (1 EE{ED&=S{E(pm) 0.037| 0.015] 0.015] 0.017] 0.006] 0.006] 0.008] 0.011] 0.026] 0.015| 0.024| 0.009] 0.037
| [BEHIEDERSE(ppm) 0.008/ 0.007] 0.008] 0.008] 0.003] 0.004] 0.004] 0.006] 0.009] 0.006( 0.007] 0.006] 0.009
& | BEEE BE 30 31 30 31 31 30 30 30 31 31 28 31| 364
A GBI 5E B R 717] 742 718] 741 742] 718 736] 716] 741 741] 670 741] 8723
= |8 A FEHE(pEpm) 0.004| 0.004] 0.002] 0.003] 0.002] 0.002] 0.003] 0.003] 0.003] 0.002] 0.003] 0.003] 0.003
% | 15 (1 BFRSE A 0.1ppmZ B Z 1-EF RS2k 0 0 0 0 0 0 0 0 0 0 0 0 0
| Bt (B FEH{EH 0.04ppmEFFEZ f-HEK 0 0 0 0 0 0 0 0 0 0 0 0 0
% 1 BREED RS IE(ppm) 0.013] 0013] 0.01] 0014] 0.008] 0009] 0.033] 0.007] 0.008] 0.007] 0.008] 0.006] 0.033
FTIBE9EDE S fEppm) 0.006/ 0.008] 0.004] 0.005| 0.004] 0.003] 0.004] 0004 0.004] 0004 0.005] 0.004] 0.008
EAEBRE 30 31 30 31 31 30 30 30 31 31 27 31 363
B B 7E B e 7191 743 717|741 7431  717| 736| 720 744 744] 664| 744| 8732
= | 2| A EH{Eppm) 0.003] 0.003] 0.002] 0.003] 0.002] 0.002] 0.002] 0.002] 0.003] 0.002] 0.003] 0.002] 0.002
&2 (1 EFRSEAY 0.1ppm%E#E Z - RS 5 0 0 0 0 0 0 0 0 0 0 0 0 0
Hh f; BEHIED 0.04ppmEFEZT-B 0 0 0 0 0 0 0 0 0 0 0 0 0
T EREIED RS E(ppm) 0.056] 0.014] 0.014] 0.009] 0.011] 0.006] 0.006] 0.006] 0028 0014] 0.014] 0007 0.056
H E#{E D &= = {E (ppm) 0.007| 0.008] 0.005/ 0.005| 0.004] 0.003] 0.003] 0.004] 0.009] 0.004] 0.006] 0.003] 0.009




q¢

—FEMEBRE (SO,: ARIE)

EﬁT % . 204 FR214

s _ 48 | 58 | 6A | 78 | 8A | 98 | 108 | 118 | 128 | 1A | 28 | 38 | Rt
# AxhBIE B 30 31 30 31 31 25 30 30 31 31 28 31 359
5 I 7E B R 717  743] 718] 739] 742] e65] 730] 716] 739] 743] 672] 740] 8664

= N A FE#H{E(pm) 0.001] 0.001 o] 0.001] 0.001] 0.001] 0.001] 0.001] 0.002] 0.002] 0.002] 0.001] 0.001

e} & 1EFRBMED 0.1ppmZF B X - 2K 0 0 0 0 0 0 0 0 0 0 0 0 0

o1l b BEH{EA 0.04ppmZFEZ 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
B 1B EHED RS E(Epm) 0.01| 0.008] 0.008 0.01] 0.01] 0.007] 0.007| 0.006] 0.024] 0.022| 0.033] 0.006] 0.033
“ B EHED RS EEpm) 0.003] 0.003] 0.002] 0.003] 0.002] 0.002] 0.002] 0.003] 0.006] 0.006] 0004 0003 0.006
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@ —F8{LZEFH (NO: ARlE)

LAkl T e —
e EHE 204 ER214
s 48 | 58 | 6B | 7B | 8B | 98 [ 108 [11B | 128 | 1A | 28 | 38 | B&t
i | H2RIE B 30[ 31 30 31 31 30 31 29] 31 31 28]  30[ 363
T _Ejj B 7E B iE 711 736] 714| 736] 734 711 738/ 708] 738] 738 665/ 734| 8663
fE) | 2 | A F1{E(ppm) 0 0 0 0 0 0 o/ 0.001] 0.002| 0.001] 0.001] 0.001 0
M= [1EBEORSEpEem) | 0.012] 0.002] 0.007] 0.006] 0.005] 0.004] 0.001] 0.008] 0.015] 0.006] 0.005] 0.005| 0.015
#|BEHEDESE(pEem) | 0.001 o/ 0.001| 0.001] 0.001]| 0.001 o/ 0.002| 0.007[ 0.002| 0.001] 0.002] 0.007
18 AAIE B 30 31 30 31 31 27 30 29 31 31 28 30/ 359
HE h B 7E B iE 711 739 713 736] 736] 677 728 706] 736/ 735 665/ 731] 8613
7] o B F 191l (ppm) 0.001] 0.001 0 0 0 0 0 o/ 0.001| 0.001] 0.001] 0.001 0
il s 1 EED RS E(Epm) | 0.008] 0.002] 0.006( 0.003] 0.003] 0.002] 0.001| 0.003] 0.009| 0.005[ 0.006] 0.005| 0.009
“ | BEMENESBEEem | 0.001] 0001] 0.001] 0.001] 0.001 0 0o/ 0.001] 0.002| 0.002( 0.002] 0.002] 0.002
E(FxhAIE B 30 22 30 31 31 25 29 28 31 31 27 30/ 345
S | A |78 X Ao R 711 535/ 710/ 733] 737 663] 720 703] 731 738 659] 727| 8367
ke |2 | B E 1B (ppm) 0 o/ 0.001] 0.001] 0.001| 0.001 0| 0.001] 0.002] 0.001 0 0/ 0.001
w1 EREDESE(pEem) | 0005 0006/ 0.038] 0.013] 0009 0.009] 0.005[ 0.013] 0035/ 0.02] 0.011] 0.006] 0.038
il BEMENRESEEem) | 0.001] 0001 001] 0002| 0002] 0002 0001] 0.002] 0.005 0003 0.002| 0.002] 0.01
&\ HHEIE B 30 30 30 31 31 30 31 29 31 31 28 30/ 362
3E | () 5E B R 711 729] 711 7371 736] 709] 735 706] 730] 738 666] 725/ 8633
el ;,{i A F5{E (ppm) 0 0 0 0 0 0 0 0 0 0 0 0 0
M= [1EREORSEEem) | 0.003] 0.003] 0.009] 0.011] 0.008] 0.005[ 0.007| 0.009] 0.006] 0.003] 0.007| 0.005[ 0.011
% | B FE 4B D ix = {E(ppm) 0 o/ 0.003] 0.001] 0.001| 0.001| 0.001| 0.001| 0.001| 0.001| 0.001] 0.001| 0.003
XIBEHHEBE 30 31 29 6 31 29 31 30 31 31 26 31] 336
=IEIEEELD 709| 736/ 701 158/ 735 703| 737| 713| 736/ 744| 652| 734 8058
A ff\ A F+5{E (ppm) 0.002| 0.002| 0.004] 0.001] 0.001| 0.002] 0.002| 0.002] 0.002| 0.003| 0.006] 0.004| 0.003
| 1 EREOESEEem) | 0039 0.02] 002 0.004] 0.002] 0.004] 0.004| 0.003] 0.007| 0.011] 0.024| 0.008 0.039
#%|BEHEDESE(pEem) | 0005 0004 0.008| 0.001] 0001 0.003] 0.003] 0.003] 0005 0.007| 0.021] 0.006] 0.021
rE; AxNAIE B 30 31 30 31 31 29 30 29 31 31 22 29| 354
B | & [(AIE RN 709 727] 711|735 733 700| 733[ 701 730| 736| 549 714| 8478
[ |z [ B #51E(ppm) 0.001| 0.001| 0.002] 0.002] 0.002| 0.001] 0.001| 0.002] 0.004] 0.003| 0.003] 0.002| 0.002
M| 2 |1 BREED &S {E(pm) 0.02| 0.009| 0027 0.02[ 0019] 0.011] 0.013] 0.036] 0.067| 0.064| 0.064] 0.031| 0067
g |BEHEDRESE(pEpm) | 0.003] 0002 0008| 0.004] 0.003] 0.004| 0.002| 0.004] 0008 0.008| 0.009] 0.007| 0.009
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i [ Al T e o7
e HE TR 204 TERR214
s 48 | 58 | 6B [ 7B | 88 | 98 [ 108 [11BA | 128 | 1A | 28 | 38 | B&t
I EzAE B # 30 31 30 31 31 24 29 28 26 30 28 11 329
B | & A ERE 712]  733] 712] 738 738] 582 723] 701] 653] 727 664] 274 7957
DI GEZEIETD) 0.001] 0.001| 0.002| 0.001] 0.001] 0.002] 0.003] 0.003| 0.004| 0.003| 0.002] 0.001] 0.002
m|R[1EMEDESEEpm) | 0018] 0.009] 0.033] 0.023] 0012] 0033] 0.023] 0.034] 0048 0.036] 0.01] 0.005] 0.048
B HEHENREEEpm) | 0.002| 0.002| 0.007| 0.004| 0.005| 0.004] 0.008] 0.008] 0.01] 0.009] 0.003] 0.002] 0.01
= |BEXhBIE HE 30 31 30 15 31 27 28 30 31 31 28 30] 342
= | 7 [AERE 713] 739| 714] 385 741| 685 706] 712| 736| 740 669 736 8276
| v [BEH{E(ppm) 0.001 o/ 0.001| 0.001] 0.001] 0.001] 0.001] 0.001| 0.003] 0.002| 0.002] 0.001] 0.001
BT > [1EEREOSSEEpm) | 0.007] 0.005] 0.011] 0.007] 0.022] 0028/ 0.018] 0025/ 0.037] 0.038] 0.032] 004] 004
T B ESEOESEEem) | 0.001] 0.001] 0002 0002 0002] 0.002] 0.002] 0.003] 0.008] 0004 0.004] 0.005/ 0.008
B |&zEIE B 30 31 30 31 31 27 29 12 31 28 20 31| 331
B | 5 (Bl E RS 712|  733] 715 740 742 672 719 300/ 730 717 505] 737| 8022
B 12| B E59{E(ppm) 0.002] 0.001| 0.001] 0.002] 0.002| 0.002] 0.002] 0.002| 0.003] 0.004| 0.004] 0.003] 0.002
2|1 EREED RS EEem) | 0013] 0011] 0.008] 0.009] 0.012[ 0.018] 0.019] 0.021] 0.034| 0.026] 0.03] 0.029] 0.034
B EHENESEpEem) | 0.002] 0.002] 0.003] 0003] 0004 0.004] 0.005/ 0.005/ 0.009] 0.007] 0.008/ 0.009 0.009
H(AAE B 30 31 30 31 31 29 31 30 31 31 27 31] 363
B |2 B ERE 717] 739 720] 740 741 708 744 715 742 744 662 742| 8714
/N B E{E(ppm) 0.002] 0.003| 0.002[ 0.002| 0.002] 0.004] 0.005/ 0.005[ 0.005| 0.003| 0.004] 0.008] 0.004
M F 1 EEEDRSEEem) | 0.008] 0.009] 0.007] 0.013] 0.028] 0013] 0.013] 0.019] 0025 0.019] 0.013] 002] 0.028
RIBEHEDESEEem) | 0.003] 0.004] 0.003] 0.003] 0.005[ 0.007[ 0.006/ 0.008] 0.007| 0.005[ 0.008] 0.01] 0.01
0 EMAEB 30 31 30 31 31 30 30 30 29 30 28 30/ 360
R e B 7E B 716] 734 716] 741 743] 710 735 714] 717 734 668] 732| 8660
1| 2| B FE 5 {E(ppm) 0.001] 0.001] 0.001] 0.002] 0.002] 0.001] 0.002] 0.004] 0.011] 0.005] 0.003] 0.001] 0.003
il g 1R ED RS E(pEpm) | 0.013] 0014] 0.012] 0019 0032] 0.02] 0032] 0.087] 0.106] 0.086] 0.071] 0.039] 0.106
BEHEORSEpEem) | 0002 0.002] 0004] 0005| 0.005] 0.004] 0.005] 0013] 0047| 0.016] 0.008] 0.005] 0.047
# (A zhBIE B 28 31 30 31 31 30 31 29 31 31 28 30/ 361
T % B 7E B 690 739 713| 738 738] 714] 739] 705] 737] 739] 667] 732] 8651
FEl | & | FE19{E(ppm) 0.009] 0.007] 0.01] 0.009] 001] 0.013] 0015 0017] 0.022] 0021] 0.019] 0.018] 0014
|4 1 EREORSE@Eem) | 0.047] 0.04] 0.049] 0.049] 0.053] 0.08] 0.069] 0.111] 0.135] 0.147| 0.109] 0.106] 0.147
B|BEHEDESEpEem) | 0015 0.014] 0.018] 0016] 002] 0.037] 0.029] 0028] 0.036] 0.047[ 0.032| 0.037] 0.047
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a7 |52 EHE 204 ER214E
s 48 | 58 | 6B [ 7B | 88 | 98 [ 108 [11BA | 128 | 1A | 28 | 38 | B&t
R AEZBIEBE 30 31 30 31 31 30 30 30 31 31 28 30/ 363
B |3k [ B E B R 711 7370 716] 738 739] 714] 729 713] 737 739] 669] 734| 8676
% | 8 | B E51{E(ppm) 0.028] 0.024| 0.028] 0.032] 0.025| 0.029] 0.03] 0.039] 0.057[ 0.04| 0.039] 0.031] 0.033
B[ 1R ED RS EEpm) | 0.137] 0.124] 0.141] 0.137] 0.125] 0.15] 0.134] 0.219] 0.216] 0.207| 0.204] 0.213] 0.219
BB EHEDRSEEem) | 0.042] 0.042] 0.068] 0.049] 0.048] 0.061]| 0.057| 0.07] 0.102] 0.075] 0.062| 0.058] 0.102
5 [BNAIE B3R 30 31 30 31 31 27| 29] 30[ 31 31 28] 30[ 359
= | e [BERRE 714] 740 717| 736/ 740 687] 723] 716] 740] 738 670/ 733] 8654
| % | B EHEppm) 0.001] 0.001| 0.001| 0.001] 0.001] 0.001] 0.001| 0.001| 0.002] 0.001| 0.001] 0.001] 0.001
1|y 1B RRED &S {Epem) | 0.007] 0.007] 0.014] 0.009] 0005 0.011] 0.01] 0018/ 0.051] 0.041] 0.021] 0.025] 0.051
| |BESEDESE(Eem) | 0.001] 0.001] 0.004] 0.003] 0.003] 0.002[ 0.002| 0.003] 0.007] 0.004] 0.003[ 0.008] 0.008
fii ERAIEBE 30 31 30 13 30 30 30 30 31 31 28 31] 345
= | = |BIE 719 744 720[ 334| 727 720 736| 717| 742| 740 672 740 8311
% | 5 [ B FH{E(ppm) 0.001] 0.002| 0.003] 0.003] 0.002| 0.002] 0.002] 0.002| 0.002] 0.001| 0.002] 0.001] 0.002
| 5 [1EEREEDSSEpem) | 0.01] 0.008] 0.016] 0.022] 0.018] 0.009] 0.011] 0.011] 0.019] 0.014] 0.016] 0.011] 0.022
7 | B EXEDRESEpEem) | 0.002] 0004 0.006/ 0.006/ 0.007| 0.004] 0.004] 0.004| 0.005] 0.004| 0.004] 0.005| 0.007
& ERAIEBE 30 31 30 31 31 30 31 30 31 31 16 30/ 352
= | 2 LBIE BRE 718 734 718] 739] 743] 709 739] 716] 731 742 394 725| 8408
% £ | B FE9{E(ppm) 0.001] 0.001| 0.002| 0.002] 0.001] 0.002] 0.001] 0.002| 0.004| 0.003| 0.005] 0.002] 0.002
il F 1EEREEDORSEEem) | 0009] 001] 0.016] 0013] 0007] 0.014] 0.02| 0053] 0.073] 0.047] 0.034| 0031] 0.073
TIEESEORESEEem) | 0.002] 0003] 0.006] 0.004] 0.003] 0.003] 0005 0.006] 0018] 001] 001] o0.01] 0018
'f__‘ EMAEB 30 31 30 31 31 27 30 30 31 31 28 30/ 360
= | 5 |8 RE B 718] 739] 718 739| 744| 686 731 718] 740[ 744| 669] 738| 8684
% | & [ B FH{E(ppm) 0.008| 0.009] 0.009] 0.01] 0.009] 0.009] 0.009] 0.01] 0013] 0009| 0.011] 0.008] 0.009
il ;‘; 1R ED RS EEpm) | 0.041] 0.036] 0.042] 0.048] 0.039] 0.04] 0.039] 0.053] 0.073] 0.051| 0.054] 0.051| 0.073
B |BEHENDESE(Eem) | 0015 0018 0.018] 0.015[ 0021 0.017] 0.013] 0.018] 0026/ 0.021| 0.017[ 0.024] 0026
® (ER0BIE B3 30| 21 21 31 31 27 30| 30 31 31 28] 31| 342
= | 2 B ERE 720 508 507| 743| 744| 689 734 719] 744| 744 672| 744| 8268
mﬁugﬁslzﬁjﬁﬁ(ppm) 0.013] 0012 002| 0016] 0012 0.014] 0.012] 0.011] 0014 0.01| 0.014] 0012 0013
|4 1 EREDORSE(@Eem) | 0.076] 0.075] 0.104] 0.053| 0.054] 0.077| 0.074| 0.095] 0.093| 0.111] 0.116] 0.088] 0.116
B|BEHEDESEpEem) | 0028 0022| 0.036] 0024 0029] 0.024| 0.019] 0021| 0.036] 0.036] 0.023] 0038| 0.038
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5 48 | 58 | 6B [ 7B | 88 | 98 [ 108 [11BA | 128 | 1A | 28 | 38 | B&t
£ (FJzhAEB 30 31 30 31 31 25 29 30 31 31 27 31| 357

= j'\ B 7E B iE 718 743| 714] 738] 740 663] 724 716] 739 743] 664 740| 8642

I8 | g [ B T 1{E(ppm) 0.003] 0.003| 0.004| 0.005| 0.005| 0.006] 0.007| 0.008/ 0.011] 0.007| 0.008] 0.006] 0.006

|4 1 EREORSE(Eem) | 0.023] 0.022] 0.019] 0.032| 0.026] 0.031] 0.034| 0.049] 0.058] 0.057| 0.051| 0.045] 0.058
B|BEHEDESEEem) | 0007/ 0006/ 0007 0009/ 0011 0.01] 0012] 0015 0.021] 0014 0.013] 0016/ 0.021
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1B 48 | 58 | 6A | 78 | 8A | 98 w0 | 11A {128 | 1A [ 28 | 38 | H&t
EAEBRE 30 31 30 31 31 30 31 29 31 31 28 30 363

% B 7E B 711 736] 714] 736] 734| 711 738] 708| 738| 738 665 734] 8663

= B FEH{E(ppm) 0.003] 0.002] 0.002] 0.002] 0.001] 0.002] 0.001] 0.003] 0.003] 0.003] 0.003] 0.003] 0.002
E.ﬁ 1R EED=RSE(ppm) 0.02] 0.024] 0.019] 0.008] 0.011] 0.008] 0.008] 0.012] 0.016] 0.017] 0.012] 0012] 0024
il % HEHED xS {E(ppm) 0.006] 0.005] 0.004] 0.003] 0.003] 0.003] 0.003] 0.005] 0.007] 0.007] 0.006] 0.006] 0.007
[ = |1 BFREMEAY 0.2ppm%E B % T- RS %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1’3 1ESREAS 0. 1ppm Ll £ 0.20pm L T D ESREIEK 0 0 0 0 0 0 0 0 0 0 0 0 0
HFHEA 0.06ppmZiEZ 1= H 0 0 0 0 0 0 0 0 0 0 0 0 0

B 49 B4% 0.04ppm L 0.0600m LT O B 0 0 0 0 0 0 0 0 0 0 0 0 0
AxhBIE HE 30 31 30 31 31 27 30 29 31 31 28 30 359

I 7E B R 711] 739 713] 736] 736] 677 728] 706] 736] 735 665 731 8613

8 A FE#H{E(pm) 0.003] 0.001] 0.001] 0.001] 0.001] 0.001] 0.001] 0.002] 0.003] 0.003] 0.004] 0.002] 0.002
T h 1B RE D == E(ppm) 0.019] 0.007] 0.011] 0.007] 0.007] 0.005] 0.005] 0.009] 0.013] 0.016] 0.014] 0.013] 0.019
]| e | B EHED RS E(ppm) 0.006] 0.003] 0.002] 0.002] 0.002] 0.002] 0.002] 0.004] 0.005] 0.007| 0.005] 0.005| 0.007
i ;f: 1 ESRAEAY 0.20pmE B Z T-FE R K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 ESREEAS 0. 1ppmELE 0.20pml T DGR 0 0 0 0 0 0 0 0 0 0 0 0 0
HFHEA 0.06ppmZE B Z 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0

B H{EA 0.04ppm Lt 0.06ppm LT D B ¥ 0 0 0 0 0 0 0 0 0 0 0 0 0
EAEBRE 30 22 30 31 31 25 29 28 31 31 27 30 345

B 7E B R 711]  535] 710] 733] 737 663] 720] 703] 731] 738 659] 727 8367

| B E5{E(ppm) 0.007] 0.009] 0.011] 0.006] 0.005] 0.005] 0.005] 0.005] 0.007] 0.007] 0.005] 0.004] 0.006
(R 1 R EEQ RS E(pm) 0.026] 0.036] 0.074] 0.025] 0.023] 0.017] 0.016] 0.018] 0.027] 0026 0022] 002] 0074
il | R B EHEDRSIE(pm) 0.011] 0.014] 0.019] 0.01] 0.008] 0.007] 0.007] 0.007] 0.01] 0.012] 0.008] 0.01] 0.019
1 |42 |1 BFE{E A 0.2ppm%Z #E X 7 BRI 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
FiFf [1 #5R31E AT 0. 1ppmLL_E 0.20pm LT D ESRIEK 0 0 0 0 0 0 0 0 0 0 0 0 0
HEHEA 0.06ppmZiEZ 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0

B 4{EAY 0.04ppmEL L 0.06ppm LT D B 0 0 0 0 0 0 0 0 0 0 0 0 0
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EﬁT %" HE R 204 TER214E
1B 48 | 58 | 6A | 78 | 8A | 98 w0 |11A (128 | 1A [ 28 | 38 | H&t
EAEBRE 30 30 30 31 31 30 31 29 31 31 28 30 362
3 B 7E B e 711 729 711] 7371 736] 709 735 706] 730 738] 666 725 8633
= A F15{E(ppm) 0.003] 0.003] 0.003] 0.002] 0.002] 0.004] 0.003] 0.004] 0.004] 0.005] 0.006] 0.006] 0.004
= 1 FEEDRSE(pm) 0.018] 0.011] 0.019] 0.008] 0.014] 0.018] 0.016] 0.016] 0.018] 0.028] 0.017] 0.018] 0.028
it 5’3 H E{E D == {E(ppm) 0.005] 0.006] 0.007] 0.004] 0.006] 0.009] 0.008] 0.006] 0.007] 0.013] 0.011] 0.008] 0.013
[ | 1 BFRSMEAY 0.2ppm%E B % T- RS 5k 0 0 0 0 0 0 0 0 0 0 0 0 0
1’3 1B5RAHEAS 0. 1ppmbl_E 0.2ppm L T BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
HFHEA 0.06ppmZiEZ 1= H 0 0 0 0 0 0 0 0 0 0 0 0 0
B 91 0.04ppm A £ 0.06ppm LT D B B 0 0 0 0 0 0 0 0 0 0 0 0 0
AxhBIE HE 30 31 29 6 31 29 31 30 31 31 26 31 336
* B 7E B el 709] 736] 701] 158 735/ 703] 737 713] 736] 744] 652] 734] 8058
T A F15{E(ppm) 0.006] 0.006] 0.005] 0.006] 0.006] 0.009] 0.01] 0.008] 0.007] 0.006] 0.01] 0.007| 0.007
= P 1B D= E(ppm) 0.034] 0.025] 0.035] 0.012] 0.017] 0034] 0.022] 0022] 0.019] 0022] 0.045] 0.022] 0.045
|, | BB O R & {B(ppm) 0.009] 001 0012 0.007] 0.008] 0015 0013] 001] 001] 0.009] 002] 0.012] 0.02
i - 1RFEEDS 0.2ppmZE B A - HETEI K 0 0 0 0 0 0 0 0 0 0 0 0 0
= 1 BSREMEAS 0.1ppmEl_E 0.2ppm LT DEERIEK 0 0 0 0 0 0 0 0 0 0 0 0 0
“BEH{EA 0.06ppmF kB Z - B 0 0 0 0 0 0 0 0 0 0 0 0 0
B H{EA 0.04ppm Lt 0.06ppm LT D B ¥ 0 0 0 0 0 0 0 0 0 0 0 0 0
EAEBRE 30 31 30 31 31 29 30 29 31 31 22 29| 354
B B EFE 709 7271 711] 735 733] 700 733] 701] 730 736] 549 714] 8478
@ | B FE 5 {E(ppm) 0.005] 0.005] 0.005] 0.003] 0.004] 0.005| 0.004] 0.004] 0.005] 0.005] 0.005] 0.005] 0.005
B |1 ERE{ED&S{E(Epm) 0.023| 0.019] 0.026] 0.018] 0.017| 0.029] 0.016] 0.02] 0.018] 0.029] 0.023] 0.026] 0.029
[ |32 | B EH{ED RS {E(ppm) 0.008] 0.009] 0.009] 0.007] 0.007] 0.009] 0.007] 0.008] 0.007] 0.011] 0.009] 0.01] 0.011
i (B | 1 BFRSMEAY 0.2ppm%E B % T- RS 5k 0 0 0 0 0 0 0 0 0 0 0 0 0
ZE 1 e5RIEAS 0.1ppmELE 0.2ppm L T D BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
85| B EHEA 0.06ppmZEiBZ 1T- HEK 0 0 0 0 0 0 0 0 0 0 0 0 0
B 4{EAY 0.04ppmEL L 0.06ppm LT D B 0 0 0 0 0 0 0 0 0 0 0 0 0
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1B 48 | 58 | 6A | 78 | 8A | 98 w0 |11A (128 | 1A [ 28 | 38 | H&t
EAEBRE 30 31 30 31 31 24 29 28 26 30 28 11] 329
B 7E B e 712]  733] 712| 738 738 582 723] 701 653 727] 664| 274 7957
| B FE ¥ 1E(ppm) 0.008] 0.006] 0.007] 0.004] 0.004] 0.006] 0.01] 0.011] 0.009] 0.011] 0.009] 0.007] 0.008
B| &1 BEEDZSE(pm) 0.037| 0.025| 0.027] 0.014] 0.015] 0.025| 0.035] 0.034] 0.033] 0.034] 0017/ 0.011] 0.037
[ | 2| B EHED xS E(pm) 0.012| 0.012] 0.012] 0.007] 0.007] 0.011] 0.018] 0.02] 0.015] 0.019] 0.013] 0.009] 0.02
| R |1 EFEED 0.2ppm%Z B X 12K 0 0 0 0 0 0 0 0 0 0 0 0 0
A8 1 B5RIEAS 0.1ppmELE 0.2ppm L T D BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
HFHEA 0.06ppmZiEZ 1= H 0 0 0 0 0 0 0 0 0 0 0 0 0
B 91 0.04ppm A £ 0.06ppm LT D B B 0 0 0 0 0 0 0 0 0 0 0 0 0
BB BIRAEE 30 31 30 15 31 27 28 30 31 31 28 30 342
FE | B X P 1 713] 739 714] 385 741] 685 706] 712] 736] 740] 669] 736] 8276
D | A FEH{E(pm) 0.006] 0.005| 0.005] 0.004] 0.004] 0.004] 0.005] 0.006] 0.008] 0.006| 0.007] 0.006] 0.006
2| < FEENRSE(pEpm) 0.017] 0.016] 0.015] 0.009] 0.015] 0012] 0.018] 0.025] 0.028] 0.028] 0.027] 0.032] 0.032
f#alvY (B EBEDRSE(@Epm) 0.009] 0.008] 0.008] 0.005| 0.006] 0.007] 0.008] 0.01] 0.012] 0.011] 0.011] 0.012] 0.012
BT | [ 1 BFREMEA 0.20pmZEFE X - R EK 0 0 0 0 0 0 0 0 0 0 0 0 0
> [1ESRAIEAS 0.1ppm Bl £ 0.2ppm A T D ESRTEK 0 0 0 0 0 0 0 0 0 0 0 0 0
4 (B FEH{EAH 0.06ppmEIEZ - B 0 0 0 0 0 0 0 0 0 0 0 0 0
| [5F91EA% 0.04ppmEl £ 0.06ppm L F D A% 0 0 0 0 0 0 0 0 0 0 0 0 0
EAEBRE 30 31 30 31 31 27 29 12 31 28 20 31| 331
B 7E B 712  733]  715] 7401 742] 672 719] 300 730 717] 505 737 8022
H| A F15{E(ppm) 0.007] 0.006] 0.005] 0.004] 0.004] 0.005| 0.006] 0.007] 0.005] 0.01] 0.009] 0.008] 0.006
B |51 ERE{ED&S{E(Ppm) 0.026] 0.031] 0.018] 0.015] 0.019] 0.018] 0.022] 0.023] 0.026] 0.027] 0.026] 0.027| 0.031
(&R B EHEDZSEEm) 0.01| 0.008] 0.008] 0.007] 0.006] 0.007] 0.009] 0.009] 0.012] 0.013] 0.017] 0.016] 0.017
|42 |1 BFE{E A 0.2ppm%Z#E X 7= BRI 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
FiFf [1 #5R31E AT 0. 1ppmLL_E 0.20pm L T D ESRIEK 0 0 0 0 0 0 0 0 0 0 0 0 0
HEHEA 0.06ppmZiEZ 1= H K 0 0 0 0 0 0 0 0 0 0 0 0 0
B 4{EAY 0.04ppmEL L 0.06ppm LT D B 0 0 0 0 0 0 0 0 0 0 0 0 0
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1B 48 | 58 | 6A | 78 | 8A | 98 w0 |11A (128 | 1A [ 28 | 38 | H&t
EAEBRE 30 31 30 31 31 29 31 30 31 31 27 31 363
B 7E B e 717]  739] 720 740 741 708] 744] 715| 742 744 662 742| 8714
M| B EH{E(ppm) 0.006] 0.005] 0.004] 0.003] 0.003] 0.005] 0.007] 0.01] 0.011] 0.008] 0.008] 0.011] 0.007
B |:Z (1 ERIED&ZSIE(pEpm) 0.024| 0.044] 0.017] 0.008] 0.037] 0.018] 0.022] 0.031] 0.03] 0.036] 0.03] 0.046] 0.046
M|/ B EHEDZSEEpm) 0.01] 0.007] 0.008] 0.004] 0.009] 0.008] 0.012] 0.016] 0.019] 0015] 0.015] 0.024] 0.024
[ |1 BFREMEAY 0.2ppm%E B % T- RS %k 0 0 0 0 0 0 0 0 0 0 0 0 0
2 [1 85 RSEAY 0.1ppmELE 0.20pm L T DEERIEK 0 0 0 0 0 0 0 0 0 0 0 0 0
HFHEA 0.06ppmZiEZ 1= H 0 0 0 0 0 0 0 0 0 0 0 0 0
B 91 0.04ppm A £ 0.06ppm LT D B B 0 0 0 0 0 0 0 0 0 0 0 0 0
AxhBIE HE 30 31 30 31 31 30 30 30 29 30 28 30 360
B 7E B el 716] 734 716 741 743] 710 735 714 717] 734 668 732 8660
2 A F15{E(ppm) 0.008] 0.006] 0.008] 0.004] 0.005] 0.007] 0.009] 0.009] 0.011] 0.01] 0.009] 0.007| 0.008
&R i 1B D= E(ppm) 0.026] 0.018] 0.025] 0.014] 0.016] 0017] 0.026] 0033] 0.04] 0037] 0.028] 0027] 0.04
| =B EHEDRSE(pPpm) 0.012] 0.008] 0.013] 0.008] 0.007] 0.011] 0.013] 0.016] 0.02] 0.019] 0.015] 0.013] 0.02
m g 1B REA 0.20pmZEF B Z T-EERE 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
1 BSREMEAS 0.1ppmEl_E 0.2ppm LT DEERIEK 0 0 0 0 0 0 0 0 0 0 0 0 0
HFHEA 0.06ppmZE B Z 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
B FH{EAS 0.04ppm bl £ 0.06ppm L T B %K 0 0 0 0 0 0 0 0 0 0 0 0 0
EAEBRE 28 31 30 31 31 30 31 29 31 31 28 30[ 361
25 B 7E B 690] 739 713] 738 738 714 739] 705] 7371 739] 667] 732] 8651
o A F15{E(ppm) 0.007| 0.006] 0.006] 0.005] 0.006] 0.007] 0.009] 0.011] 0.012] 0.014] 0.015] 0.015] 0.009
% - 1R EED=RSE(ppm) 0.028] 0.029] 0.03] 0.039] 0.027] 0.041] 0.036] 0.036] 0.043] 0.05| 0.05] 0049] 0.05
[it] - HEMED & {E(pm) 0.011] 0.01] 0.009] 0.008] 0.011] 0015] 0.015] 0016] 0.019] 0024] 0.021] 0024] 0.024
izl o 1BFRSMEAY 0.2ppm%E B % T- RS 5k 0 0 0 0 0 0 0 0 0 0 0 0 0
= 1 BSREEAS 0.1ppmbl_E 0.2ppm LT D EERI %K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B EHEA 0.06ppmZEiBZ - B 0 0 0 0 0 0 0 0 0 0 0 0 0
B FH#{EAS 0.04ppm il £ 0.06ppm il T B %K 0 0 0 0 0 0 0 0 0 0 0 0 0
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1B 48 | 58 | 6A | 78 | 8A | 98 w0 |11A (128 | 1A [ 28 | 38 | H&t
EAEBRE 30 31 30 31 31 30 30 30 31 31 28 30 363
B 7E B e 711 7371 716] 738 739 714 729 713] 737| 739] 669 734| 8676
| B EH1E(ppm) 0.023] 0.02] 0.018] 0.014] 0.014] 0016] 0018 0019] 002] 002] 0.022] 0021] 0.019
{3 |1 BEED &S E(pm) 0.053| 0.058] 0.048] 0.041] 0.044| 0.043] 0.054] 0.046] 0.053] 0.051] 0.058] 0.049] 0.058
(B8 |8 FHEDZSEEpm) 0.034] 0033] 0.03] 0023] 0.026] 0023] 0.026] 0028] 0.026] 0.029] 0.033] 0.032] 0.034
1 | 8k 1 BFEE A 0.2ppm%Z#E X 7= BRI 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
J5 [1#5Ra1E AT 0. 1ppmELE 0.20pm LT DESRIEK 0 0 0 0 0 0 0 0 0 0 0 0 0
HFHEA 0.06ppmZiEZ 1= H 0 0 0 0 0 0 0 0 0 0 0 0 0
B 91 0.04ppm A £ 0.06ppm LT D B B 0 0 0 0 0 0 0 0 0 0 0 0 0
" AxhBIE HE 30 31 30 31 31 27 29 30 31 31 28 30 359
5 B 7E B el 714] 740 717] 736] 740 687 723] 716] 740 738 670/ 733] 8654
& A F15{E(ppm) 0.007| 0.006] 0.006] 0.005| 0.004] 0.006] 0.007] 0.008] 0.009] 0.008] 0.009] 0.007| 0.007
=) = 1B D= E(ppm) 0.027] 0.022] 0.021] 0.012] 0.017] 0021] 0.039] 0041] 0.046] 0045 0.035] 0.033] 0.046
753 I H FE#51{E D xS {E(ppm) 0.011] 0.008] 0.011] 0.008] 0.009] 0.01] 0.011] 0.012] 0.014] 0.015] 0.016] 0.019] 0.019
izl > 1EFRBMED 0.20pmZF B X - 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
e 1 ESREEAS 0. 1ppmELE 0.20pml T DGR 0 0 0 0 0 0 0 0 0 0 0 0 0
| HFHEA 0.06ppmZE B Z 1= HE 0 0 0 0 0 0 0 0 0 0 0 0 0
B H{EA 0.04ppm Lt 0.06ppm LT D B ¥ 0 0 0 0 0 0 0 0 0 0 0 0 0
EAEBRE 30 31 30 13 30 30 30 30 31 31 28 31| 345
137 B %€ B R 719 744] 720 334 727 720 736 717 742 740 672] 740 8311
A4 | B EH51{E (ppm) 0.005] 0.004] 0.004] 0.003] 0.003] 0.003] 0.004] 0.006] 0.005] 0.005] 0.006] 0.005] 0.004
=R |1 BREDRSIE(Ppm) 0.02[ 0.021] 0.016] 0.012] 0.012] 0.01] 0.019] 0.021] 0018/ 0.02| 0037/ 0.021] 0.037
5|15 B EHED RS E(pm) 0.007[ 0.009] 0.007] 0.006] 0.005| 0.006] 0.007] 0.01] 0.009] 0.01] 001] 0009 0.01
1 | B |1 BFREE A 0.2ppm%Z#E X 7= BRI 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
2 |1 B5RA1EAT 0. 1ppmLL_E 0.20pm L T DESRIEK 0 0 0 0 0 0 0 0 0 0 0 0 0
(B FE{EH 0.06ppmZE#EZ - Bk 0 0 0 0 0 0 0 0 0 0 0 0 0
B 4{EAY 0.04ppmEL L 0.06ppm LT D B 0 0 0 0 0 0 0 0 0 0 0 0 0




Ge

“EEER (NO,: ARIE)

[ Al - T
iy | = HE R 204 TER214E
1B 48 | 58 | 6A | 78 | 8A | 98 w0 |11A (128 | 1A [ 28 | 38 | H&t
EAEBRE 30 31 30 31 31 30 31 30 31 31 16 30 352
B 7E B e 718] 734] 718| 739 743 709] 739 716] 731 742] 394| 725| 8408
& A F15{E(ppm) 0.009] 0014] 0.011] 0.008] 0.007] 0014] 0.01] 0012] 0.012] 0015] 0.017] 0.009] 0.011
= | .2 1 FEEED &S {E(Epm) 0.036] 0.032] 0.032] 0.031] 0.024] 0.037[ 0.031[ 0.048[ 0.048[ 0.046[ 0.039] 0.042 0.048
mﬁg"g Egngfh@%%{Egg)fﬁﬁﬁ 0.015] 0.023] 0.016] 0022] 0.013] 0024] 0.016] 0019] 0.019] 0024] 0.031] 0.02] 0.031
1 BEREEAY 0.20pm%E B % - RS 0 0 0 0 0 0 0 0 0 0 0 0 0
fe 1ESREAS 0. 1ppm Ll £ 0.20pm L T D ESREIEK 0 0 0 0 0 0 0 0 0 0 0 0 0
HFHEA 0.06ppmZiEZ 1= H 0 0 0 0 0 0 0 0 0 0 0 0 0
B 91 0.04ppm A £ 0.06ppm LT D B B 0 0 0 0 0 0 0 0 0 0 0 0 0
AxhBIE HE 30 31 30 31 31 27 30 30 31 31 28 30 360
= R XE s i 718] 739 718] 739 744] 686 731] 718 740 744 669] 738 8684
T | B FE51{E(ppm) 0.016] 0.016] 0.012] 0.008] 0.009] 0.01] 0.013] 0.012] 0.012] 0.011] 0.013] 0.013] 0.012
= | EHEDRSIE(Epm) 0.052| 0.045| 0.036] 0.027] 0.035] 0.03] 0.041] 0.043] 0.042] 0.033] 0.039] 0.043] 0.052
ﬁigaﬂ;ﬁ%ﬁwn%%ﬁg%n) T 0.025[ 0.025| 0.018] 0.015] 0.015| 0.016] 0.017] 0.019] 0.018] 0.019] 0.017] 0.02] 0.025
1 BFFEEAY 0.2ppm%E B Z F-FEFE1 2k 0 0 0 0 0 0 0 0 0 0 0 0 0
1k [1 #5R31EAY 0. 1ppmbl_E 0.20pm Bl T DEERIZK 0 0 0 0 0 0 0 0 0 0 0 0 0
BBEHIE 0.06ppmEEZ =B 0 0 0 0 0 0 0 0 0 0 0 0 0
B H{EA 0.04ppm Lt 0.06ppm LT D B ¥ 0 0 0 0 0 0 0 0 0 0 0 0 0
EAEBRE 30 21 21 31 31 27 30 30 31 31 28 31| 342
& B 7E B 720 508| 507| 743] 744] 689 734 719] 744 744] 672 744] 8268
Eﬁqzi’ﬁﬁﬁ(ppm) 0.019] 0017] 0.018] 001] 0.01] 0013] 0.014] 0012] 0.012] 0011] 0.015] 0014] 0.013
=) e 1R EED=RSE(ppm) 0.056] 0.053] 0.052] 0.04] 0.032] 0.039] 0.049] 0046 0049] 0041] 0048 0046 0.056
% 5 HEMED xS {E(pm) 0.029] 0.022] 0.027] 0.017] 0.017] 0.018] 0.02] 0.019] 0.019] 0.024] 0.023] 0.02] 0.029
1| 3 |1 BFEME A 0.2ppm%#E X 7= BRI 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
*%F 1B5RAHEAS 0. 1ppmbl_E 0.2ppm L T D ESRIEK 0 0 0 0 0 0 0 0 0 0 0 0 0
1B EHEA 0.06ppmZEiBZ - B 0 0 0 0 0 0 0 0 0 0 0 0 0
B 4{EAY 0.04ppmEL L 0.06ppm LT D B 0 0 0 0 0 0 0 0 0 0 0 0 0




9€

“EEER (NO,: ARIE)

EﬁT %" HE R 204 TER214E
15 48 | 58 | 68 | 78 | 88 | 98 [10A |11 | 128 | 1A | 28 | 38 | &5t |
EAEBRE 30 31 30 31 31 25 29 30 31 31 27 31| 357
# B 7E B e 718] 743| 714| 738 740 663] 724| 716| 739 743 664 740| 8642
5 A F 51 (ppm) 0.009| 0.007| 0.006] 0.005] 0.006] 0.008] 0.009] 0.009] 0.01] 0.009] 0.011] 0.01] 0.008
= |\ LB EE O & & fiE (ppm) 0.021] 0.022| 0018 0.021] 0.02| 0.021] 0027] 003] 0.031] 0.041] 0.029] 0.031 0.041
% & HEMED xS {E(pm) 0.012[ 0.01] 0.01] 0011] 0.01] 0.011] 0.014] 0.015] 0.016] 0.015] 0.017] 0015 0.017
il b 1R {E A 0.2ppm% 4B Z =B 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
5 1BSREEAS 0.1ppmbl_E 0.2ppm LT D EERI %K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B EHED 0.06ppmZE B Z - B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
B T H#{EAS 0.04ppm il £ 0.06ppm L T B %K 0 0 0 0 0 0 0 0 0 0 0 0 0




LE

@ Z=HFRIEY (NO+NO,: ARIE)
| Al T et T et
7| = HE 204 ER215E
5 48 | 58 [ 6B | 7B | 8B | 98 | 108 |11BA 128 | 1A | 2B | 3AH FET
E|EAIE B 30 31 30 31 31 30 31 29 31 31 28 30 363
3E fif] |8 %E B 711 736 714 736] 734] 711 738 708 738| 738| 665/ 734 8663
- | A F#1E(ppm) 0.003] 0.002] 0.002] 0.002] 0.001] 0.002] 0.002| 0.004| 0.005| 0.004| 0.004] 0.004 0.003
= £ 1 ERE{ED & EE(pm) 0.031] 0.025] 0.02[ 0.014] 0.013] 0.009] 0.009] 0.02] 0.031] 0.019] 0.016/ 0.014 0.031
2| B FEHED RS E(ppm) 0.006] 0.006] 0.004] 0.004] 0.004] 0.004] 0.003] 0.007| 0.014| 0.008| 0.007| 0.007 0.014
¥ | B FEE NO2/(NO+NO2)(%) 96| 95.9| 878 86 90| 94.9| 98.1] 7071 676] 79.2] 86.7] 80.3 82.8
AxhAIE B 30 31 30 31 31 27 30 29 31 31 28 30 359
i JB | B % B 711 739] 713] 736] 736] 6771 728] 706] 736] 735/ 665] 731 8613
- o | B F 51 (ppm) 0.003] 0.002] 0.001] 0.002] 0.001] 0.001] 0.001] 0.003| 0.004| 0.004| 0.004| 0.003 0.003
s ZF |1 B EE D &x & fE(ppm) 0.026/ 0.009] 0.012] 0.008] 0.009| 0.006/ 0.006] 0.01] 0.019] 0.018] 0.019] 0.016 0.026
BB EHEDRSIE@EmM) 0.008] 0.004] 0.003] 0.003] 0.003] 0.002] 0.002] 0.005/ 0.005| 0.007| 0.006/ 0.007 0.008
A EHE NO2/(NO+NO2)(%) 785| 60.1] 942 896 935 972 973| 874 78] 776 83| 715 81.1
3 AxhAIE B 30 22 30 31 31 25 29 28 31 31 27 30 345
i | 3B 7E R R 711] 535 710] 733] 7371 663] 720/ 703] 731 738/ 659 727 8367
= A 19 fB(ppm) 0.007] 0.009] 0.012] 0.007] 0.006] 0.006] 0.005/ 0.005| 0.008| 0.008| 0.006/ 0.005 0.007
| 2 1 B [ {18 O 5% /5 fIB.(ppm) 0.03] 0.037] 0.079] 0.031] 0.027] 0.024] 0.019] 0.025| 0.054| 0.046] 0.03] 0024 0.079
= HF 1B D= E(ppm) 0.011] 0.014] 0.025] 0.012] 0.009] 0.008] 0.007| 0.01| 0014 0.014] 001 0.01 0.025
A F1{E NO2/(NO+NO2)(%) 97.5 97 89| 85.8] 89.1] 878] 958/ 906/ 809 853 915 918 89.7
E|EZAIE B 30 30 30 31 31 30 31 29 31 31 28 30 362
3E fif] |8 %E B 711 729 711 737 736/ 709 735 706/ 730/ 738| 666/ 725 8633
- F | A FH91E(pm) 0.004] 0.003] 0.004] 0.002] 0.003] 0.004] 0.004] 0.005/ 0.005| 0.005| 0.006| 0.006 0.004
= FA | 1 B FE1E D &x = B (ppm) 0.02] 0013] 0.02| 0017/ 0018/ 0.018] 0.017[ 0.025] 0.022] 0.03] 0024] 0021 0.03
2| B FEHED RS E(ppm) 0.005| 0.006] 0.007] 0.004] 0.006] 0.01] 0.009] 0.007| 0.007| 0.014| 0.011] 0.008 0.014
¥ | B FEE NO2/(NO+NO2)(%) 96| 97.8/ 905/ 825 906] 953 95.1] 956/ 951 964 946/ 971 94.6
PNEEEIRAEE 30 31 29 6 31 29 31 30 31 31 26 31 336
alE B 7E R R 709] 736] 701] 158] 735 703] 7371 713 736] 744] 652 734 8058
- A AFEH{E(pm) 0.008] 0.008] 0.009] 0.007] 0.007] 0.012] 0.011] 0.009] 0.01] 0.009] 0.017[ 0.011 0.01
& M1 B REED ZE{E(ppm) 0.042] 0.034] 0.046] 0.016] 0.017] 0.034] 0.023] 0.024] 0.025] 0.024] 0.064] 0.027 0.064
2| BHFEHED RS E(ppm) 0.011| 0.013| 0.015] 0.007] 0.009| 0.017| 0.015| 0.011] 0.013] 0.015] 0.04] 0016 0.04
¥ | B FEE NO2/(NO+NO2)(%) 69.8] 71.8] 545/ 859 86| 815 86/ 838] 758/ 633 622] 658 72.5




8¢

i

HEEY (NO+NO,: A RIE)

| Al T et T et
a7 | = HE 204 ER215F
5 48 | 58 | 68 | 78 | 88 | 98 | 108 [11A | 128 | 1A | 2B | 3H REt
B (FzhAIE B 30 31 30 31 31 29 30 29 31 31 22 29 354
= Q Bl 7E R R 709 727 711 735] 733] 700/ 733] 701| 730 736] 549] 714 8478
| A 19 {6 (ppm) 0.006] 0.006] 0.007] 0.005] 0.005/ 0.006/ 0.005| 0.006/ 0.008| 0.008] 0.008] 0.007 0.006
77| B PR O 5 5 I8 (ppm) 0.029| 0.025[ 0.046] 0.033| 0.027| 0.04] 0.025| 0045 007 0.078] 0.069| 0.038]  0.078
= B FHEDFEE(ppm) 0.009| 0.01] 0.016] 0.008] 0.008] 0.012] 0.009] 0.01] 0.014] 0.019] 0.014| 0.015 0.019
g% | B E{E NO2/(NO+NO2)(%) 85.3] 86.6] 77.3] 6770 716] 787 82| 721 56/ 65.3] 65.1] 76.1 72.9
4 AxhAIE B 30 31 30 31 31 24 29 28 26 30 28 11 329
g % Bl 7E B R 712| 733] 712 738| 738 582 723| 701 653 727| 664| 274 7957
|2 A 9 {B(ppm) 0.01] 0.006] 0.008] 0.005/ 0.006/ 0.008| 0.013| 0.014] 0.014] 0.014] 0.011] 0.008 0.01
o = 1E%Faﬁ1'|£0)g%.§_,_1ﬁ(ppm) 0.052| 0.032] 0.045] 0.033] 0.025[ 0.043[ 0.058| 0.062] 0.063] 0.064] 0.025[ 0.013 0.064
& HF#91E D &= {E(ppm) 0.014] 0.013] 0.015] 0.01] 0.012] 0.014] 0.026] 0.028| 0.023| 0.028| 0.015] 0.01 0.028
AFE¥E NO2/(NO+NO2)(%) 85.4 889 799 736] 757 782] 788| 762 682 774 852 842 78.6
- AxhAIE B 30 31 30 15 31 27 28 30 31 31 28 30 342
= = (BIERE 713]  739] 714] 385] 741] 685/ 706] 712] 736/ 740] 669 736 8276
ﬁ'?] S | B E3{E(ppm) 0.007] 0.006] 0.006] 0.005] 0.005/ 0.005/ 0.006/ 0.008| 0.011] 0.008] 0.009] 0.007 0.007
gy | © LEEEHME O & S 1E (ppm) 0.02| 0016 0.026] 0.013| 0.027| 0.037| 0.029] 0.04| 0.055| 0.065] 0.048] 0.072]  0.072
7 | B FIED & B (pm) 0.009| 0.008] 0.009| 0.006] 0.007| 0.008] 0.011] 0.013] 0.019] 0.015] 0.013] 0.015]  0.019
| [ B FEH{E NO2/(NO+NO2)(%) 922 916] 86.3 79 849| 851| 86.1] 846] 7171 80.7] 814] 841 83.3
= AxhAIE B 30 31 30 31 31 27 29 12 31 28 20 31 331
als Bl 7E R R 712] 733|715 740 742| 672 719] 300/ 730 717 505[ 737 8022
= |z A 9 {B(ppm) 0.009] 0.007] 0.006] 0.006] 0.005] 0.007] 0.009| 0.009| 0.008| 0.014| 0.012] 0.011 0.008
| 2 1 B [ {18 O 5% 5 fIB.(ppm) 0.033] 0.035] 0.024] 0.022] 0.025/ 0.036] 0.033] 0.035| 0.051| 0.049]| 0.046| 0.043 0.051
= HF#H91E D &= E(ppm) 0.011] 0.01] 0.01] 0.009] 0.009] 0.011] 0.013] 0.012] 002 0019 0025/ 0.026 0.026
AFE¥E NO2/(NO+NO2)(%) 815 86.9 805/ 70.1| 687 715 726] 788] 627 727 70| 69.8 73.3
<t AxhAIE B 30 31 30 31 31 29 31 30 31 31 27 31 363
= §$ B 7E B e 717 739 720| 740| 741 708 744| 715] 742| 744 662 742 8714
&5 ;]\ A 9 {B(ppm) 0.008] 0.008] 0.007] 0.005] 0.005] 0.01] 0.012] 0.015/ 0.015| 0.012] 0.012] 0.019 0.011
| 2 1 B [ {18 O 5% 5 fIB.(ppm) 0.032] 0.047] 0.021] 0.016] 0.044] 0.024] 0.033] 0.04| 0.048] 0.047| 0.035| 0.056 0.056
s HF#H91E D &= E(ppm) 0.012] 0.011] 0.01] 0.006] 0.014] 0.014] 0.018 0.022| 0.024]| 0019 0.022| 0.03 0.03
“ B FEHE NO2/(NO+NO2)(%) 722 627 649 609 614 558/ 583 635 70.1] 716] 66.7] 59.1 64
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i

HEEY (NO+NO,: A RIE)

il - T 204 TR
5 48 | 58 | 68 | 78 | 88 | 98 | 108 [11A | 128 | 1A | 2B | 3H FET
AxhAIE B 30 31 30 31 31 30 30 30 29 30 28 30 360
= BRSO 716] 734 716] 741 743| 710] 735 714 717| 734] 668] 732 8660
5 39| B F #5{8 (ppm) 0.009] 0.006] 0.009] 0.006] 0.006] 0.008] 0.011] 0.014| 0.021] 0.015/ 0.012] 0.009 0.01
| B 1 B RE{E D &= & B (ppm) 0.035| 0.024] 0.029] 0.023] 0.035] 0.028] 0.054] 0.105[ 0.131] 0.101] 0.085| 0.054 0.131
B\ HFEYEDRSE(ppm) 0.013] 0.01] 0.015] 0.011] 0.012] 0.012] 0.018 0.026/ 0.067| 0.035| 0.021| 0.018 0.067
A FE¥)E NO2/(NO+NO2)(%) 89.3] 904| 86.1] 6771 739] 849] 824] 687 508 678 74| 86.4 73.5
FAEDAEBR 28 31 30 31 31 30 31 29 31 31 28 30 361
3 E | B 7 B R 690 739 713] 738| 738] 714 739 705 737 739] 667] 732 8651
- FEl | A *F 51 (ppm) 0.016] 0.012] 0.016] 0.014] 0.016] 0.02] 0.024] 0.028 0.034| 0.034| 0.034| 0.033 0.024
= B 1 EE{ED & & E(ppm) 0.062| 0.056] 0.061] 0.084] 0.067| 0.094| 0.096] 0.139] 0.17] 0.197] 0.144] 0.155 0.197
B B EFHED &S E(ppm) 0.023] 0.022] 0.025] 0.02] 0.025] 0.049] 0.039] 0.043] 0.054| 0.071] 0.05] 0.06 0.071
BB FEHIE NO2/(NO+NO2)(%) 422 456] 36.4 34| 371| 371] 378| 386] 356] 40.1] 447] 462 39.9
0 ?E';‘JJ;‘EIIE H3K 30 31 30 31 31 30 30 30 31 31 28 30 363
= |15 I FE B A 711  737) 716] 738] 739| 714] 729 713] 737 739] 669] 734 8676
5 | A 9 {B(ppm) 0.051] 0.044] 0.046] 0.045] 0.038] 0.045/ 0.048] 0.058| 0.077| 0.06] 0.061] 0.051 0.052
$*3F1E§Faﬁ1l_5®§|§_jlﬁ(ppm) 0.172] 0.152] 0.173] 0.164] 0.163] 0.182] 0.162] 0.245| 0265 025 0234 0254 0.265
B HF#H91E D &= E(ppm) 0.072] 0.074] 0.092] 0.065] 0.069] 0.076] 0.083] 0.094| 0.127| 0.104| 0.089] 0.085 0.127
~ | AFEHIE NO2/(NO+NO2)(%) 45.3| 46.2] 387 30 358/ 36.2] 36.8] 332] 264] 333 355 406 35.9
g AxhAIE B 30 31 30 31 31 27 29 30 31 31 28 30 359
= | 1 A 7 B R 714 740 717] 736| 740 687 723| 716| 740[ 738/ 670| 733 8654
i | = A F#{E(ppm) 0.008] 0.007] 0.007] 0.006] 0.006] 0.007] 0.008] 0.009] 0.012] 0.009] 0.01] 0.008 0.008
| & BB O & & {5 (ppm) 0.031] 0.023] 0.023] 0.016| 0.018[ 0.025] 0.047| 0.058] 0.095| 0.083] 0.05] 0.058 0.095
% [BFEHEDHEE(pm) 0.011] 0.009] 0.012] 0.009] 0.011] 0.011] 0.012] 0.014] 0.021| 0.019] 0.018] 0.027]  0.027
| [BFEH{E NO2/(NO+NO2)(%) 90.9 88| 83.2 771 805/ 857] 889] 86.4] 8171 89.6] 88.1] 89.3 86
& [AxhElE B # 30 31 30 13 30 30 30 30 31 31 28 31 345
= I% I 7E B A 719| 744] 720 334| 727 720f 736| 717| 742 740| 672| 740 8311
% g A 9 {B(ppm) 0.006/ 0.006] 0.007] 0.006] 0.005] 0.005] 0.007| 0.007| 0.007| 0.006/ 0.008| 0.007 0.006
7 | 5 L EHE D & & 5 (ppm) 0.025] 0.028] 0.023| 0.033] 0.026] 0.018| 0.026] 0.03| 0.034] 0.031] 0.045| 0.028]  0.045
7z | B {ED & {E(ppm) 0.008] 0.012| 0.012] 0.01] 0.011] 0.01[ 0.01] 0.013] 0.014| 0.014] 0.014| 0.014 0.014
i | B FEHE NO2/(NO+NO2)(%) 795 669 609/ 549 57.1| 609] 683 746 75| 80.1| 78.3] 81.1 71.2
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i

HEEY (NO+NO,: A RIE)

il - T 204 TR
5 48 | 58 [ 6B | 7B | 8B | 98 | 108 |11BA 128 | 1A | 2B | 3AH REt
AxhAIE B 30 31 30 31 31 30 31 30 31 31 16 30 352
= B |8 % B 718 734 718 739] 743| 709] 739] 716 731 742] 394 725 8408
% /8 [ A F 15 {E(ppm) 0.009] 0.015] 0.013] 0.01] 0.009] 0.016] 0.011] 0.014| 0.017| 0.018] 0.022] 0.011 0.013
e ZF |1 BFEE D& & E(ppm) 0.042| 0.04] 0.036] 0.035 0.028] 0.045| 0.051] 0.082[ 0.105] 0.08] 0.06] 0.068 0.105
i | B FEHED xS E(ppm) 0.015| 0.025] 0.019] 0.027] 0.015] 0.026] 0.02] 0.023] 0.036/ 0.034| 0.036] 0.03 0.036
A FEH)E NO2/(NO+NO2)(%) 93.6] 919] 838 762 842 883 879] 855 738 82| 776] 833 83.8
= (B xhEIE B # 30 31 30 31 31 27 30 30 31 31 28 30 360
= ;; I FE B A 718] 739 718 739] 744| 686] 731 718 740 744] 669] 738 8684
I & ﬁfﬁi’ﬂﬁ(ppml 0.025| 0.025| 0.021| 0.018| 0.018] 0.02| 0.022[ 0.022| 0.025] 0.02 0.023| 0.021 0.022
| & 1 BF R {E D &= & B (ppm) 0.093| 0.064] 0.069] 0.064] 0.06] 0.062] 0.067] 0.094 0.1/ 0.082] 0.08] 0.088 0.1
8 | B F1E D xS E(ppm) 0.038] 0.04| 0.035| 0.024| 0.029] 0.03] 0.03] 0.036] 0.041[ 0.04] 0.033] 0.045 0.045
B | BFE{E NO2/(NO+NO2)(%) 66.5| 63.9 58| 46.7| 48.6] 53.3] 587] 559 482] 56.9 55|  60.6 56.4
(A zhBIE B3 30 21 21 31 31 27 30 30 31 31 28 31 342
= = JAIE R E 720 508 507| 743| 744| 689] 734 719 744 744 672| 744 8268
5 % | B F ¥1E(ppm) 0.032] 0.029] 0.038] 0.026] 0.022] 0.027] 0.026] 0.023] 0.026] 0.021| 0.029]| 0.026 0.027
e B [1 B E{E D &= = B (ppm) 0.107] 0.11] 0.129] 0.084] 0.074| 0.107] 0.107| 0.119] 0.115] 0.143] 0.153] 0.113 0.153
B B FHED &S E(ppm) 0.054] 0.042] 0.053] 0.038] 0.042] 0.042] 0.037/ 0.037| 0.5 0.059]| 0.042| 0.058 0.059
BB FEHIE NO2/(NO+NO2)(%) 585/ 595| 466| 401| 454| 482] 534| 526 456/ 517 515 527 50.4
EAEER IR 30 31 30 31 31 25 29 30 31 31 27 31 357
= B A E 718| 743 714 738| 740| 663] 724| 716] 739 743| 664] 740 8642
mﬁll\ﬁzﬁﬁ]ﬁﬁ(ppm) 0.012] 0.011] 0.01] 001] 0.011] 0013 0.016] 0017 0.021] 0.016] 0.019] 0.016 0.014
o B [1 B E{E D R = {E(ppm) 0.036] 0.037] 0.03] 0.039] 0.039] 0.038] 0.048] 0.058] 0.077] 0.084] 0.077] 0.076 0.084
B B FHED &S E(ppm) 0.017] 0.016] 0.016] 0.016] 0.017] 0.02] 0.024] 0028 0.033] 0.029] 0.026] 0.031 0.033
BB FEHIE NO2/(NO+NO2)(%) 71.3] 681 61.1] 522 54| 565/ 559/ 552| 49.2] 588/ 58.1] 628 58




v

® HLFEAX AL (Ox: ARIE)
EET % EHE S RL204E TR 214
MiBl 48 | 58 | 68 | 78 | 88 [ 98 (108 [11A [12A | 1A | 2A | 38 | £&t
EYGEIRAEE 30 31 30 31 31 30 31 25 25 25 28 28] 345
3 R i B 7 B e 441 4571 445] 457] 460 442 444] 351 366] 342 403] 357] 4965
i BRED1FEIED A F5{E(ppm) 0.048] 0.046| 0.031] 0.022] 0027 0.026] 0.028] 0.026] 0.023] 0.031| 0.034[ 0.041] 0.032
13 o BED1EE{EA 0.06ppmZxiEZ1-A %K 22 17 6 3 3 2 1 0 0 0 3 8 65
fit] % B0 1 BRE{EA 0.06ppm% 8 % F-REfsi %k 138 95 24 6 10 4 3 0 0 0 10 32| 322
(T (REO1EBED 0.120pmLl ED B2k 0 0 0 0 0 0 0 0 0 0 0 0 0
g BRI D 1ERE{EA 0.12ppm Ll F D EFRE %K 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED1BEEDRSIE(Epm) 0.079] 0.09] 0072] 0.067| 0.071] 0.063] 0.063] 0.057] 0.047] 0.05] 0.069] 0068] 0.09
BREDBHRE 1REED B FH{E(Epm) 0.063] 0.064] 0.045] 0.036] 0.04] 0.041] 0.042] 0039 0.037] 0.041] 0.048] 0.052] 0.046
REHE B 30 31 30 31 31 30 31 30 31 31 28 31| 365
R B 7 B el 441] 460 441] 457] 458] 421] 447] 445] 458] 456] 413] 451 5348
m@?ﬁ'ﬂﬂ)ﬁ%?ﬂﬁﬁo)ﬁzﬁiﬁﬁ(ppm) 0.043] 0.038] 0.025[ 0.02] 0022| 0.025] 0.028] 0.026] 0.026] 0.031] 0.033[ 0.039] 0.03
T h BN 1 EE{EAY 0.06ppmZ#8 Z - B %k 9 5 0 0 1 0 0 0 0 1 0 1 17
] | e [ BRTEI D 1 B TR {EAY 0.06ppmZ% B Z F- BRI 2K 29 23 0 0 3 0 0 0 0 1 0 2 58
il fI BRED1EREEA 0.120pmLl ED B2 0 0 0 0 0 0 0 0 0 0 0 0 0
* RN 1ERE{EA 0.12ppm Ll E D EEREIZR 0 0 0 0 0 0 0 0 0 0 0 0 0
RED 1 FEED&EE(Epm) 0.066/ 0.074| 0.055] 0.057| 0.066] 0.056] 0.06] 0.048] 0.048] 0.064| 0.054| 0.064| 0.074
BRE O HxE 1 BEEED A T {Eppm) 0.055] 0.051] 0.035| 0.032] 0.033] 0.037] 0.041] 0.035] 0.036] 0.04] 0.043] 0.048] 0.041
RERIE B % 30 29 30 31 31 30 31 30 31 31 28 20| 352
R B % B e 438] 400] 437] 451] 446] 412] 449 441] 455] 454] 412] 248] 5043
| RED1EM{ED A F 11 (ppm) 0.046] 0.044| 0.033[ 0.016] 0019 0.024] 0.026] 0.026] 0.021] 0.028] 0.031] 0.032] 0.028
FE (FE (R D 1B EMEA 0.06ppmZE 22 -B K 16 12 5 0 1 0 3 0 0 1 1 1 40
i (R | R E D1 BFR{EA 0.06ppmZ kB X F- R 2K 66 56 25 0 7 0 10 0 0 2 4 2 172
|| R D1 ERIEA 0.120pmL LD HER 0 0 0 0 0 0 0 0 0 0 0 0 0
Fr /R R D 1 BERS{EA 0.12ppm bl _E D BEFEI %k 0 0 0 0 0 0 0 0 0 0 0 0 0
RED 1 BEED RS EEem) 0.074| 0.079] 0.084] 0.052] 0.075] 0.057] 0.071| 0054] 0.045| 0.063] 0.064| 0.068] 0.084
BREOHSS 1BREED B FH{E(ppm) 0.058] 0.056] 0.045[ 0.024] 0.027] 0.037] 0041 0038] 0032] 0.037] 0.043] 0042 0.04




4%

SeptiA £ AUk (Ox: BRIE)

LiE: o o o
oy = EHE S RL204E TR 214
HIBl 4B [ 5B | 6eA | 7B | 88 [ 98B [10B |11B | 128 | 1B [ 2B | 38 | &E&t
EYGEIRAEE 30 31 30 31 31 30 31 30 31 31 28 31| 365
* R i B 7 B e 440 457] 443| 458| 453 443 451 443] 457] 458 407| 455| 5365
T BRED1FEIED A F5{E(ppm) 0.038] 0.042| 0.033] 0.026] 0.029] 0.03] 0.04] 0029] 0.011] 0.016[ 0.02] 0034] 0.029
= P BN 1 ERE{EA 0.06ppmZ#8 % - B %k 6 11 11 5 7 5 13 0 0 0 0 1 59
|, [\ BB 1EFRHHE A 0.06ppm¥ 8 2 1= 5[5 21l 71| 41l 21| 4] 21| 54 0 0 0 0 6] 276
T | e [ R D 1 BEBED 0.120pmLL ED HEK 0 0 0 0 0 0 0 0 0 0 0 0 0
g BRI D 1ERE{EA 0.12ppm Ll F D EFRE %K 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED1BEEDRSIE(Epm) 0.076] 0.089] 0074] 0.07| 0.088] 0.073] 0.078] 0.054] 0.04] 0.032] 0.045| 0.069] 0.089
BREDBHRE 1REED B FH{E(Epm) 0.05] 0.057[ 0.047] 0.039] 0.043] 0.047] 0.056] 0.038] 0.018] 0.02] 0027 0.043] 0.041
REHE B 30 31 30 31 31 30 31 30 31 31 28 31| 365
R B 7 B el 441] 459 445 461] 459] 444] 458 434 458] 457] 409] 454] 5379
H(RE D1 BEED B FH1{EEpm) 0.041] 0.037] 0.025] 0.015] 0.021] 0.024] 0.023] 0.025] 0.024] 0.022] 0.031] 0038 0.027
H|E RE®1EBIED 0.06ppmZ B4 =B 10 8 1 0 1 0 0 0 0 0 0 1 21
M |2 (RO 1B EEAY 0.06ppmZ#8 Z - Bk 39 42 1 0 4 0 0 0 0 0 0 5 91
R 2B D 1ERIEA 0.120pmLL E D HEL 0 0 0 0 0 0 0 0 0 0 0 0 0
5 | B R0 1 EREA 0.12ppm Ll E D EFRI 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
RED 1 FEED&EE(Epm) 0.078[ 0.079] 0.065] 0.049] 0.065[ 0.056/ 0.044] 0.05] 0.048] 0.042 0.053| 0.067] 0.079
BRE O HxE 1 BEEED A T {Eppm) 0.056] 0.052| 0.038] 0.025] 0.03] 0.034] 0.033] 0.036[ 0.035] 0.029] 0.042] 0.051| 0.038
fi2 | BREAIE BE 30 31 30 31 31 30 31 30 31 31 28 31| 365
B[RRI E B RE 441] 460 445 456] 456] 430] 448] 444] 457 458] 407] 459 5361
D|RED1RBREED A F91E(pm) 0.051] 0.05| 0.035[ 0.023] 0027/ 0.031] 0.034] 0028 0.026] 0.03| 0.035( 0.042] 0.034
2| < [RED1EBED 0.06ppmZE 22 -B 21 18 6 1 4 2 2 0 0 0 5 11 70
8| Y [BRED1EFEIEA 0.06ppm% 2 = 1= B K 141 127 27 6 19 7 7 0 0 0 19 59 412
BT | | R0 1EREA 0.120pmEl ED B L 0 0 0 0 0 0 0 0 0 0 0 0 0
V| REID1EEEA 0.12ppmLl E DRIk 0 0 0 0 0 0 0 0 0 0 0 0 0
2 | RE D 1 B {E D == B (ppm) 0.091] 0.088] 0.077] 0.066] 0.074] 0.065] 0.069] 0.058] 0.052] 0.054] 0.073] 0.068] 0.091
| [REQEES 1EBEED B FHEEpm) 0.066] 0.064] 0048 0.034] 0.039] 0.044| 0049 0042] 0.04] 0.041] 0051 0055/ 0048




1%

EA % AUk (Ox: A RIE)

| o o o
e EE 204 TR 214
MiBEl 48 | 58 | 68 | 78 | 88 [ 98 (108 [11A [12A | 1A | 2A | 38 | £&t
EYGEIRAEE 30 31 30 31 31 30 31 30 31 31 28 31| 365
R i B 7 B e 441  462| 4471 463| 465 427| 438] 447] 448] 437] 395 450] 5320
H|RED1EMIED A FH{E(ppm) 0.042] 0.044| 0.032] 0.018] 0018 0.021] 0.029| 0.024] 0.021] 0025/ 0.031] 0.04| 0.029
B (M| BE01ER{EA 0.06ppmZEiB % T-B % 12 17 9 2 3 1 2 1 0 0 3 10 60
B[R [BED1ERE{EA 0.06ppmZ#E X -k 60 93 27 6 10 1 4 1 0 0 9 371 248
([ (R D 1EREMED 0.120pmLl ED B 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
Fr | 2R D 1 B R{EAY 0.12ppm L E D BRI 5K 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED1BEEDRSIE(Epm) 0.085| 0.091| 0.084] 0.067| 0.067| 0.064] 0.064| 0.061] 0.049] 0.055[ 0.073] 0.071] 0.091
BREDBHRE 1REED B FH{E(Epm) 0.058] 0.061] 0.046] 0.028] 0.031] 0.033] 0.045] 0.039] 0.036] 0.038] 0.047| 0.055] 0.043
REHE B 30 31 30 31 31 30 31 30 31 31 28 31| 365
R B 7 B el 447] 461 449 462] 464] 446] 459 447] 461] 457] 419] 461] 5433
HIBRE D1 BIED A FHE(ppm) 0.05| 0.045| 0.033[ 0.021] 0.024| 0.026] 0.032] 0.029] 0.027] 0.034] 0.035[ 0.042] 0.033
B |:ZE (BB D 1EBIED 0.06ppmZ B4 =B 20 15 4 2 2 0 1 1 0 0 3 5 53
/BB D 1EREED 0.06ppm% 8 Z 1-Fr 2K 130 86 16 7 15 0 2 1 0 0 9 16] 282
(2| BRI D 1EREIEA 0.12ppm Ll E D HEL 0 0 0 0 0 0 0 0 0 0 0 0 0
RIBRB O 1ER{ED 0.12ppm Ll E D BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
BREID 1 FEED&E{E(Epm) 0.08/ 0.083] 0.085| 0.061] 0.077[ 0.057| 0.061| 0.064] 0.058] 0.056[ 0.073| 0.064| 0.085
BRE OB 1 BEEED A T {Eppm) 0.064] 0.06] 0.046] 0.032] 0.035] 0.038] 0.047| 0.043[ 0.043] 0.046] 0.05] 0.054] 0.047
BRiEEIE B 30 31 30 31 28 30 31 30 31 31 28 31] 362
R B % B e 426] 460 449 462] 411] 442] 458] 447] 461] 457] 420] 459] 5352
= RE D1 BEEED B F5{E(Epm) 0.032] 0.043] 0033] 002] 002] 0.025] 0029 0025] 002] 0.025] 0.027] 0036] 0028
B e RED1FFE{EA 0.06ppmZiEZ 7= HEK 6 16 4 1 0 1 1 0 0 0 2 6 37
W2 BRI D 1B {EA 0.06ppm%Z #B Z 1= B RS 5k 20] 111 15 2 0 2 1 0 0 0 8 16] 175
m g RED 1EEREEA 0.12ppm Ll E D B % 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED1EREEA 0.12ppm Ll E D EFRIEK 0 0 0 0 0 0 0 0 0 0 0 0 0
REID 1 BEEDRSE(Eem) 0.073] 0.086] 0.086] 0.061] 0.057] 0.063] 0.062] 0.055] 0.051] 0.047] 0.066] 0.066] 0.086
BREDBRE 1REED B FH{E(ppm) 0.05] 0.061] 0.044] 0032] 0.033] 0.038] 0045 0041] 0.038] 0.039] 0.043] 0.051] 0.043




4%

= FALEA X H Uk (Ox: ARIE)
bl T e T b
oy | = EHE TR 204 TERi214E
MiBl 48 | 58 | 68 | 78 | 88 [ 98 (108 [11A [12A | 1A | 2A | 38 | £&t
RBRiEAIE B 30 31 30 31 31 30 31 30 31 31 28 31| 365
R i Bl 7 B e 447  463| 449] 461 464 449| 451 448 465| 464| 405 465| 5431
B RE D1 FFEIED A F5{E(ppm) 0.047[ 0.047| 0.032] 0.019] 0.021] 0.026] 0.037] 0.031] 0.026] 0.032( 0.032] 0.042] 0.033
= | | BREID1ERIEM 0.06ppmZ B A =B 17 18 4 2 1 1 12 6 2 0 4 14 81
% | 2 R D 1B {EAY 0.06ppm% #2 % F-FFRE K 103] 114 12 8 3 1 65 16 3 0 14 771 416
il B‘?; BRED1EEMED 0.120pmLl ED B %K 0 0 0 0 0 0 0 0 0 0 0 0 0
TR D1 EERIED 0.12ppmLl F DEREE 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED1BEEDRSIE(Epm) 0.091] 0.089] 0082] 0.07| 0.067[ 0.061] 0082] 0.079] 0.066] 0.055[ 0.071] 0.072] 0.091
BRE®B&zS 1 EREED A FHE(Epm) 0.063] 0.063] 0.044| 0.028] 0.03] 0.039] 0.055 0.048[ 0.044| 0.045] 0.046] 0.058 0.047
REHE B 30 31 30 31 31 30 31 30 31 31 28 31| 365
e R 1B 7 B el 446] 463 447] 459] 463] 417] 449 446] 461] 462] 413] 461] 5387
5 BRE D1 EFEHE D A F #5{E(ppm) 0.04] 0.039] 0026 0018] 0.02] 0.019] 0.022] 0.021] 0018] 0.024] 0.023] 0.026] 0.025
=) I BRED1EEED 0.06ppmZ 82 1- B %k 9 11 2 0 2 0 0 0 0 0 0 0 24
%3 & BRED1BEE{EA 0.06ppm%#E % - %k 51 63 9 0 5 0 0 0 0 0 0 o] 128
il I BRED1EREEA 0.12ppmLl ED B2 0 0 0 0 0 0 0 0 0 0 0 0 0
B BN 1 EE{EA 0.12ppm L E D EFRE K 0 0 0 0 0 0 0 0 0 0 0 0 0
“RE D1 EBIED RS E(ppm) 0.081| 0.081| 0.078] 0.057| 0.064] 0.052] 005 0.05] 0.042] 0.045[ 0.057| 0.059] 0.081
BRE O HxE 1 BEEED A T {Eppm) 0.058] 0.057] 0.039] 0.03] 0.032] 0.031] 0.038] 0.035[ 0.031] 0.035] 0.038] 0.039] 0.039




1%

% i‘q*é]iﬁﬂﬁﬂﬁﬁ (SPM: A BIlE)
A I T et
e EE TR 204 TR214E
B _ 48 | 58 [ 68 | 7A | 8A [ 98 |10A | 11A [12A | 1A | 2A | 38 | Fit
BFxhBlE HE 30 28 30 29 27 27 29 30 31 31 28 31| 351
%E | B 72 B e 719] 700] 720 716] 684] 680] 725 720] 743] 744] 672] 742] 8565
iE | [ | B FE{E(mg/m3) 0.024] 0.028] 0.021] 0.026] 0.033] 0.023] 0.022] 0.019] 0.015] 0.015] 0.022] 0.021] 0.022
R [ 1 BERE{EAY 0.20mg/m3% #8 % =B %K 0 0 0 0 0 0 0 0 0 0 0 0 0
|| B EHE 0.10mg/m3FtB A - B 0 0 0 0 0 0 0 0 0 0 0 0 0
Fr 1 B EE D RS {E(mg/m3) 0.06] 0.069] 0097] 0.09] 0.161] 0.07] 0.056] 0.081] 0.059] 0.075] 0.077] 0.065] 0.161
HEH{ED &S E(mg/m3) 0.041] 0.044] 0051] 0.045] 0.095] 0045 0.036] 0.058] 0.034] 0041] 0.05] 0.044] 0.095
i FxhEIEHE 30 31 29 30 30 30 31 30 31 31 28 31 362
- B 7 B RS 719 7371 710 730 729] 716] 740 717] 740 741 671 741] 8601
| = | B FH{E(mg/m3) 0.018] 0.021] 0.015] 0.014] 0.014] 0.01] 0011] 0.009] 0.006] 0.007] 0.012] 0.008] 0.012
4 H'?l 1EFREIE A 0.20mg/m3% kB A T- B 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
|| B EHE 0.10mg/m3F B4 - B3k 0 0 0 0 0 0 0 0 0 0 0 0 0
1’3{ 1 FFfEE D &= B (mg/m3) 0.104] 0.099] 0.084] 0.074] 0.128] 0.046] 0.047] 0.123] 0.132] 0.08] 006] 005] 0.132
* B EBEDESE(me/m3) 0.034] 0.036] 0.037] 0.024] 0031] 0.023] 0.019] 004] 0018 0026] 0.034] 0025 004
B|&xhBEB# 30 31 30 31 31 30 31 30 31 31 28 31| 365
Al B % B fE 719 742 719 743] 741 718] 744 719] 743 743] 670 741] 8742
B | | B FE8{E(me/m3) 0.024] 0.027] 0.024] 0.027] 0.032] 0.025] 0.022] 0.019] 0.014] 0.015] 0.022] 0.016] 0.022
@ | 32 |1 BEREEAY 0.20mg/m3% 8 Z 1- BRI 3k 0 0 0 0 0 0 0 0 0 0 0 0 0
™ |E B EHIEA 0.10mg/m3%Z B Z1-B 0 0 0 0 0 0 0 0 0 0 0 0 0
EM1BEENRSE(Mg/m3) 0.07] 0.082] 0.093] 0.084] 0.183] 0.107] 0.063] 0.08] 0.056] 0.08] 0.103] 0.062] 0.183
8| B HE D& {B(mg/m3) 0.041] 0.043| 0.049] 0.05] 0.082] 0.053| 0.035| 0.058] 0.028] 0.036] 0.045] 0.034| 0.082
B{AAEBH 30 31 30 31 31 25 29 30 31 31 28 31| 358
’§ I 7E B e 7171  742] 716] 738] 740 673] 720 720] 742] 743] 671] 741] 8663
=| < [AFEH{E(mg/m3) 0.024] 0.026] 0.019] 0.021] 0.024] 0.02] 0022] 0.023] 0.018] 0.019] 0.026] 0.019] 0.022
2| v [1EER{EAY 0.20me/m3%E B Z -8 %k 0 0 0 0 0 0 0 0 0 0 0 0 0
BT | & [BEHEA 0.10mg/m3ZBA-A 0 0 0 0 0 0 0 0 0 0 0 0 0
% [ EBEBEOREE(me/m3) 0.062] 0.1] 0.083] 0.065] 0.093] 0.091| 0.062] 0.106] 0.064| 0.068| 0.094| 0.064| 0.106
| [B F51{E D ix = fE(mg/m3) 0.04| 0042 0041] 0.04] 0057 0.033[ 0031] 0.072] 0.039] 0.044| 0.056] 0.037] 0.072




9y

ST TIRME (SPM: A BliE)

;ﬁT 7 - 204 214
B _ 48 | 58 [ 68 | 7A | 8A [ 98 |10A | 11A [12A | 1A | 2A | 38 | Hit
FxhBEHE 30 31 30 31 31 27 29 30 31 31 28 31| 360
B BIERE 717 743] 718] 742] 743] 683] 726] 717 744] 743] 670] 743] 8689
B @ | B FH1{E(mg/m3) 0.022] 0.022] 0.019] 0021] 0.028] 0.022] 0.02] 0.02] 0014] 0013] 0018] 0.012] 0.019
|13 [ 1BRI{EAD 0.20mg/m3% 8 % -3 0 0 0 0 0 0 0 0 0 0 0 0 0
|62 |8 EHE 0.10mg/m3F B A -B 3 0 0 0 0 0 0 0 0 0 0 0 0 0
Fr(1BEED RS E(mg/m3) 0.073] 0.086] 0.073] 0.062] 0.124] 0.07] 0083] 0.09] 0.088] 0.061] 0.087] 0.043] 0.124
HEH{ED &S E(mg/m3) 0.043] 0.038] 0.034[ 0.039] 0.07] 004 0033] 0.057] 0032 003[ 0046] 0.023] 007
FxhElE HE 30 31 30 31 29 30 31 30 31 31 28 31 363
;1 (GBI %E B RS 717] 743 719] 738] 711 719] 740 718] 743 743] 670 741] 8702
B |iZ| B FH5{E(mg/m3) 0.025] 0.026] 0.022] 0.025] 0.027] 0.022] 0.022] 0.022] 0.016] 0.016] 0.023] 0.017] 0.022
B[/ 1 EER{EAY 0.20mg/m3% 4B Z =B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
| |BHEHE 0.10mg/m3FtB A - B3 0 0 0 0 0 0 0 0 0 0 0 0 0
B ERED xS E(mg/m3) 0.102] 0.054] 0.069] 0.124] 0.116] 0.073] 0.049] 0.089] 0.059] 0.066] 0.083] 0.056] 0.124
HEH{ED RS E(meg/m3) 0.047] 0.042| 0.034] 0.041] 0.061] 0.034] 0034] 0.06] 0034 0035 005/ 0.031] 0061
EMAlEBE 30 31 30 31 31 30 31 30 31 31 26 31| 363
a0 B 7 B AE 718]  744] 719] 740 743] 717] 739 718] 742 741 654] 742] 8717
%ByﬁﬁzFﬁﬂIE(mg/m@ 0.027] 0.034] 0.025] 0.019] 0.02] 0.019] 0021] 0.022] 0.024] 0.026] 0.025] 0.017] 0.023
322 (1 BERSEAY 0.20mg/m3%F B Z T- RS 2K 0 0 0 0 0 0 0 0 0 0 0 0 0
O] g BEHEA 0.10mg/m3ZHEB -0 0 0 0 0 0 0 0 0 0 0 0 0 0
1R EE D ix &= {E(meg/m3) 0.084] 0.14] 0.08] 0065] 0.101] 0.083] 0.071] 0.097] 0.105] 0.12] 0.113] 0.062] 0.14
HEH{EN & B(me/m3) 0.052| 0.049] 0.042| 0035| 0.061] 0.033] 0.031] 0.054] 0.051| 0044] 0056] 0.028| 0.061
25 AAlEBRE 30 31 30 31 31 30 31 30 31 31 28 31| 365
i B 7 B s 719 743 718] 744] 742] 720] 743] 720] 743] 744] 671] 742] 8749
T - A FEH{E(mg/m3) 0.034] 0.034] 0.03] 0.031] 0.036] 0.034] 0.034] 0.032] 0.029] 0.029] 0.035] 0.028] 0.032
fit] - 1B RE{EAY 0.20mg/m3%#B 2 1-FE1 2k 0 0 0 0 0 0 0 0 0 0 0 0 0
izl o HEHEA 0.10mg/m3%#EZ 1= B #§ 0 0 0 0 0 0 0 0 0 0 0 0 0
B 1R EE D i = {E(mg/m3) 0.084] 0.079] 0.081] 0.108] 0.188] 0.166] 0.07] 0.123] 0.072] 0.099] 0.102] 0.088] 0.188
~ | HEHEDE S fE(mg/m3) 0.049] 0.049[ 0.057| 0045 0072] 0.053] 0.046] 0.075( 0.046] 0.055| 0055 0.047] 0.075




Ly

= FilERFIRYE (SPM: A AIlE)
S I I
e EE TR 204 TRE214
B _ 48 | 58 [ 68 | 7A | 8A [ 98 |10A | 11A [12A | 1A | 2A | 38 | Hit
FxhAlEHE 30 31 30 31 31 30 31 30 31 31 28 31| 365
BRI 715 741 718] 739 741 716] 742] 714] 740 741] 666] 740] 8713
(3 [ B F11E(mg/m3) 0.04] 0.039] 0.037] 0.036] 0.035] 0.035] 0.037] 0.04] 0.038] 0.035] 0.042] 0.033] 0.037
| B [ 1 EER{EA 0.20mg/m3% 4B Z =R %k 0 0 0 0 0 0 0 0 0 0 0 0 0
| HE| B EHE 0.10mg/m3F#B A - B3 0 0 0 0 0 0 0 0 0 0 0 0 0
B EBEEDRSE(Mg/m3) 0.092] 0.086] 0.106] 0.166] 0.119] 0.079] 0.08] 0.12] 0.125] 0.121] 0.112] 0.078] 0.166
_|BEHEDEEE(mg/m3) 0.06] 0058 0.06[ 0.063] 0.081] 0.052[ 0047] 0.079] 0.059] 0.065( 0.082] 0.052] 0.082
1B |55 308 H X 30 29 30 31 30 27 30 30 31 31 28 31| 358
& AR 720  728] 717] 741] 735] 689] 734 720 744] 744] 670] 733] 8675
= [‘g A FEH{E(mg/m3) 0.031] 0.032] 0.029] 0.033] 0.039] 0.029] 0.027] 0.028] 0.022] 0.022] 0.029] 0.021] 0.028
83| 3 |1 BB AY 0.20mg/m3%#E % F- R EK 0 0 0 0 0 0 0 0 0 0 0 0 0
M|y [BFHIED 0.10mg/m3%kBZ - HER 0 0 0 0 0 0 0 0 0 0 0 0 0
5 1 FEEO&EE(mg/m3) 0.077] 0.132] 0.149] 0.117] 0.19] 0.106] 0.077[ 0.124] 0.088] 0.122] 0.12[ 0.076] 0.19
| [HEHED RS E(Mg/m3) 0.051] 0.05] 0.062[ 0.065] 0.097] 0.055] 0037| 0.068] 0.047| 0.049[ 0.066] 0.044| 0.097
F(EMAEBE 30 31 30 31 31 30 31 30 31 31 28 31| 365
4 | RIE B RE 719 743 719 739 742 717] 740 719] 743] 744] 671 742] 8738
= 1% | H F{E(mg/m3) 0.02] 0.021] 0.018] 0.018] 0.021] 0.016] 0.017] 0.014] 0.008] 0.009] 0.014] 0.01] 0.015
% |12 [ 1 BFRS{E AY 0.20mg/m3% B % T-HE %k 0 0 0 0 0 0 0 0 0 0 0 0 0
|| BEBEA 0.10meg/m3EFBZT-B 0 0 0 0 0 0 0 0 0 0 0 0 0
7 |1 B REE D iz = fE(mg/m3) 0.059] 0.06] 0.061] 0.062] 0.088] 0.052] 0.045] 0.082] 0.047[ 0.051] 0.055] 0.045] 0.088
T | H F1{E D &= & B(mg/m3) 0.037] 0.035[ 003 003 005/ 0029 0025/ 0.057[ 0021 0025 0031] 0.018] 0.057
AAlEBRE 30 31 30 31 31 30 31 30 31 31 28 31| 365
= B 7 B s 718] 741 719 737] 744 718] 741 718] 739 743] 670] 744] 8732
= | . [H F{E(mg/m3) 0.029] 0.03] 0.03] 0.029] 0.032] 0.026] 0.024] 0.025] 0.024] 0.023] 0.028] 0.021] 0.027
g | S |1 BERRME AY 0.20mg/m3% kB % 1= RE R 3R 0 0 0 0 0 0 0 0 0 0 0 0 0
h B?-‘ B EHEA 0.10mg/m3EBZ -B & 0 0 0 0 0 0 0 0 0 0 0 0 0
T ERENRESE(mg/m3) 0.069] 0.074] 0.194] 0.106] 0.132] 0.075] 0.054] 0.092] 0.071| 0.098] 0.094] 0.056] 0.194
H 1 {EN & & B(me/m3) 0.045| 0.047[ 0.074| 0055 0.065] 0.042] 003] 0.062] 0047 005 0064] 0.036] 0.074
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= FilERFIRYE (SPM: A AIlE)
pil] o et o
iy |52 HE TR 204E TERR214E
) _ 48 | 58 [ 68 | 7A | 8A [ 98 |10A | 11A [12A | 1A | 2A | 38 | Hit
SIEEERAEE 30 31 30 31 31 27 30 30 31 31 28 31| 361
T A E B FE 717 742 719] 741 742] 687] 733] 718] 743] 743] 670] 740] 8695
= |7 | A F181E(mg/m3) 0.029] 0.031] 0.031] 0.026] 0.027] 0.024] 0.024] 0.025] 0.02] 0019] 0026] 0.02] 0.025
U5 |18 [ 1 BER{E AY 0.20mg/m3% 4B Z =A%k 0 0 0 0 0 0 0 0 0 0 0 0 0
|8 |BEHEA 0.10mg/m3ZiB4-B 0 0 0 0 0 0 0 0 0 0 0 0 0
BE(1BREED RS E(mg/m3) 0.104] 0.079] 0.126] 0.08] 0.091] 0.082] 0.103] 0.09] 0.062] 0.076] 0.083] 0.05] 0.126
5| B EHED RS E(Mmeg/m3) 0.047] 0045/ 0055 0.06] 0.062] 0.043] 0033] 0.063] 0.041| 0.039[ 0.053] 0.034] 0.063
. FxhElE HE 30 31 30 31 31 27 30 30 31 31 28 30/ 360
= B 7E R R 718] 743] 718] 744] 744 689 733] 718] 742] 743] 670 733 8695
= mglﬁzFﬂ]ﬂE(mg/mS) 0.027] 0.032] 0.029] 0.03] 0.038] 0.029] 0.028] 0.026] 0.02] 0.019] 0.028] 0.021] 0.027
53 E 1B FEEAY 0.20mg/m3% B 2 1-EE &k 0 0 0 0 0 0 0 0 0 0 0 0 0
il HE HIEH{EA 0.10mg/m3ZiBA-HE 0 0 0 0 0 0 0 0 0 0 0 0 0
B 1 FFfEE D i = {E(mg/m3) 0.073] 0.106] 0.104] 0.092] 0.158] 0.108] 0.063] 0.107] 0.067] 0.087] 0.096] 0.064] 0.158
~ | HEBEDE S E(mg/m3) 0.048] 0.05| 0.053[ 0.053] 0.084] 0.055| 0.039] 0.069] 0.049] 0.042[ 0.06] 0.038] 0.084
# EMAlEBE 30 29 30 31 31 24 28 30 31 31 28 31| 354
5 B 7 B AE 7171 7171 718] 741] 742] 651 710 718] 741 743] 670 741] 8609
=) ,j\ﬁqziéjﬁﬁ(mg/m?,) 0.023] 0025] 0.02] 0.022] 0.025] 0.021] 0.02] 0.019] 0015 0.015] 0.019] 0.012] 002
53 & 1B MEEAY 0.20mg/m3% B Z 1-BR &k 0 0 0 0 0 0 0 0 0 0 0 0 0
il i HIEHIED 0.10mg/m3ZBA-HE 0 0 0 0 0 0 0 0 0 0 0 0 0
B 1R EE D ix &= {E(meg/m3) 0.133] 0.107] 0.161] 0.114] 0.107] 0.069] 0.057 0.1] 0.059] 0.125] 0.088] 0.04] 0.161
" [BEHED RS E(mg/m3) 0.04| 0044 0037| 0.043] 0065/ 0037 003] 0.05 0035/ 0033] 0.046] 0.024]| 0.065
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@ —#iLixsE (CO: ARIE)

|8l T i o
a7 | = HE 204 ER215E
5 47 58 | 68 | 7B | 8A | 98 | 10A | 11A | 128 | 1A | 2B | 38 | B&t
AxhAIE B 30 31 30 31 31 27 29 30 31 31 28 31| 360
B X FF i 714] 739 713] 739] 738] 679] 707] 712| 738 740 668] 738| 8625
5 | XE| A 1918 (ppm) _ 05/ 04[] 04/ 03] 03 04/ 04/ 05/ 05 05 05/ 04 04
| M | BB I AY 20ppm# R A 7= [B1 5K 0 0 0 0 0 0 0 0 0 0 0 0 0
g H|BEHIED 10ppmZEBAT-BH 0 0 0 0 0 0 0 0 0 0 0 0 0
B 1 BB D iz = {E(ppm) 1.6 1.3 1.4 1 1.1 14 1.1 1.9] 22 22 18] 15 22
BB EHED XS E(ppm) 0.7 0.7 0.7 0.4 0.5 0.6 0.6 0.7 0.7 0.8 0.6 0.6 0.8
1B RE{EAY 30ppmbl D B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
AxhAIE B 30 31 30 31 31 30 31 30 31 31 28 31| 365
= Bl 7E R 720 744] 718 743| 741 715 742 718 742| 742] 670/ 743| 8738
= E;F;Eﬁgﬁ?gpprg) R o.g o.g o.g o.g o.g o.g 0.(5) o.g o.g o.g o.g o.g o.g
SHFHI{EAY 20ppmZ#E % 1-[A1%
% EF HEHEHD 10ppm#Z B % 1= H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
g 1 BB D & = (B (ppm) 1.1 1.1 1.3 08 1.1 1.2 14 18 3 2| 26 1.8 3
B EHIED RS E(pm) 0.6 0.6 0.7 0.5 0.6 0.6 0.6 0.8 1.3 1 1 0.8 1.3
1B RE{EAHY 30ppmbl D B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
= |BZAIE B 28 31 30 31 31 27 30 30 31 31 26 31| 357
:I'E‘; Bl 7E R 694 736 717 739] 739] 685 729 711| 738] 740| 649] 739] 8616
=5 A g;%@)gppm) R 0.9 0.9 0.5 0.2 0.3 0.4 0.7 0.8 0.8 0.6 0.9 0.7 0.6
w QEERA{EAY 20ppm%AE#E Z 1-[A1% 0 0 0 0 0 0 0 0 0 0 0 0 0
ﬁ lg HEHEHD 10ppmZ B % 1= H 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
o 1 B E D& S B (ppm) 1.9 1.9 1.4 0.8 1.6 1.3 1.9 2.1 3.2 2.2 25 1.8 3.2
B HF#H91E D &= E(ppm) 1.2 1.5 0.9 0.5 0.7 0.9 1.3 14 1.7 1.3 1.5 1.3 1.7
~ |1 R {EAY 30ppm Ll D B £ 0 0 0 0 0 0 0 0 0 0 0 0 0
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bR (CO: ARIE)

| Al Tt —_——
a7 | = HE R 204 ER2145E
5 47 58 | 68 | 7B | 8A | 98 | 10A | 11A | 128 | 1A | 2B | 38 | B&t
AxhAIE B 30 31 30 28 31 27 30 30 31 31 28 31| 358
A B X Fe 720 744 720 692 743| 691| 733 719 744 743] 672] 740| 8661
= | = | A F191B(ppm) 06/ 05/ 05/ 04/ 04 05 04 04 05/ 05 05 05/ 05
i | ¥ | BB AN 20ppme 8 2 72 [B1 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
e H|BEHIED 10ppmZEBAT-BH 0 0 0 0 0 0 0 0 0 0 0 0 0
BE 1 BB D xS {E(ppm) 1.3 1.2 1.9 1.4 1.1 1.7 14| 14] 17 1.7 18] 16 1.9
BB EHED XS E(ppm) 0.7 0.7 0.8 0.6 0.6 0.6 0.6 0.6 0.7 0.7 0.8 0.8 0.8
1B RE{EAY 30ppmbl D B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
AxhAIE B 30 31 30 31 31 25 30 30 31 31 28 31| 359
A GBI B 717 742 719 743| 743] 665 731 717  742] 744 672| 743| 8678
= | B | A 1918 (ppm) 05/ 05[] 04/ 04 03] 04 04 04/ 04 04] 04[] 04 04
iz | /1 [BEEEIHE AN 20ppm% 8 2 72 B3 0 0 0 0 0 0 0 0 0 0 0 0 0
e H|BEHIED 10ppmZEBAT-BH 0 0 0 0 0 0 0 0 0 0 0 0 0
B B REE D =S 1E(ppm) 1 09] o09] 08 07 06 3] 09 1 1.1 1 0.8 3
BB EHED XS E(ppm) 0.8 0.7 0.5 0.5 0.5 0.4 0.5 0.5 0.6 0.6 0.6 0.5 0.8
1B RE{EAHY 30ppmbl D B %k 0 0 0 0 0 0 0 0 0 0 0 0 0




19

A RAEIKSR (NMHC: B 7 fi)

LAkl T b T
e EHE ER205E ER214E
B _ 48 | 58 | 6A | 78 | 8A | 98 | 108 |11A | 128 | 1A | 2A | 38 | #5
381 7E R R 647] 444 0 ol 621 678] 595 629] 738] 744] 667] 728] 6491
iE A F1#{E(ppmC) 0.09] 0.07 0.09] 008/ 008 006/ o008 o008 008 007 008
i | 6~9E¢;(:afs|+§ﬁ T 1518 (ppmC) 0.09] 0.08 0.09] 007/ 008 006/ 008 o008 008 007 008
& | = 6~ ORBIE B _ 27 19 0 0 26 29 24 26 31 31 27 30/ 270
oy 6 ~ 9RF 3R [E F #4{iE D ix = {E(ppmC) 0.14 0.2 0.14| 015/ 025 012 023 022] 017 02| 025
o 6 ~ ORF 3R E F 9B D X {E{E(ppmC) 0.05| 0.04 005/ 004/ 002] 002 003 002] 003 004 002
6~ OB 3ERITEEA 0.20ppmCEBZ -A 0 0 0 0 0 0 1 0 1 1 0 0 3
6~ OB 3EFRIF BN 0.31ppmCEIBZ F-HH 0 0 0 0 0 0 0 0 0 0 0 0 0
I 7E B 704 732 708] 730] 731] 693] 730] 695] 731] 726] 620/ 728] 8528
K| B FEHE(pmC) 0.04] 003[ 004] 004 004 006] 004 004 003] 004 005 008 0.04
g F|6~9BFZHI+5 B FEHE(ppmC) 005/ 004 004] 004 004 006] 003 004 004 005 o006] 008 005
- A |6~orAIE B % _ 27 29 29 28 28 29 31 29 28 31 25 29| 343
Fﬁ /1N |6 ~ O B[] F 15 i (D £ = { (ppmC) 009 006/ 007 006/ 007 0.5 007 0.1 02| 024 o011] 012] 024
%6~ ORF 3H i T ¥E D R AEE(ppmC) 0.01 0 0| 0.03] 002 o] 002 001 0.01 0| 0.03] 005 0
(6~ OB BRI EHEM 0.20ppmCHEEZ-A K 0 0 0 0 0 0 0 0 0 1 0 0 1
6~ OB 3RFRIF BN 0.31ppmCEIBZ F-HH 0 0 0 0 0 0 0 0 0 0 0 0 0
8 7 5 694] 744] 719] 744] 742 720 744] 686] 736] 701] 672 741] 8643
#| A EH1E(pmC) 017 o015/ o019 o017] o019] 019] 0.19] 0.19 02| 018/ 0.16 02| 0.18
i 113 6~95%[:3’:3H’€>H 15 {iE(ppmC) 021 0.19] 024 022] 022] 024] 022 024 023 022] 023] 026] 0.23
- fif] |6 ~ 9FFRITE HEK _ 29 31 30 31 31 30 31 29 31 29 28 31| 361
. B |6~ 9 3K FH{ED == {E(ppmC) 0.34] 029 048] 043 03] 084 04| o058 048] 049] 048] 055 084
$E |6 ~ ORF SHE ] F ¥{E D R AEE(ppmC) 011 009 o013] o012] o016 o0.11] o012 013] 0.14] 006/ 009 012] 006
B (6~ O SHREITEHED 0.20ppmCEIEBZ -HE 16 10 16 16 21 15 15 14 15 15 18 21 192
6~ ORF3HFR T HEA 0.31ppmCEHEA-HEKX 2 0 5 2 0 3 4 7 2 4 3 5 37
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A2 FALKFE (NMHC: A Bl{iE)

il - FH20% FH2I%
B _ 48 | 58 | 6A | 78 | 8A | 98 | 108 |11A | 128 | 1A | 2A | 38 | #5
381 7E R R 715 741 713] 715 718 713] 742 702] 619 743] 672] 733] 8526
0 A F1#{E(ppmC) 022 0.19] 025/ 052 0.15 01] 0.12] 0.14] 0.19 0.1 o.11] o007 o0.18
a1 6~95§(:a’5l7’éﬁ T 1518 (ppmC) 0271 024] 023 o055 o018 o012] o016] 021] 027 018 o018 o0.11] o022
i35 | 5 6~ 9FFRIE HE _ 30 31 30 30 29 30 31 29 26 31 28 31| 356
en s 6 ~ 9RF 3R [E F #{iE D ix = {E(ppmC) 063] 0.79] 094 1.11] o069 041] 038] 044] 063 046/ 049 o041 1.11
B 6 ~ 9% 3R E F 9 {E D K {E(ppmC) 0.09] 007/ 005 0.13] 005 ol o001 o004/ 003 ol 002 0 0
~ 6~ 9m:SERN T HEA 0.200pmCHIBA =B 20 13 14 26 6 2 9 15 16 13 10 4] 148
6~ OB SERI FH{EA 0.31ppmCEIBZ - H K 7 8 7 23 3 1 1 7 9 2 5 2 75
= |8 7E FF R 710  727] 706] 726/ 736] 682 728 718] 741 739] 668] 739] 8620
g B FE5{E (ppmC) 0.19] 0.19] o0.21] o0.19] o018 o019 o0.19] o0.18 02| 0.18 02| 0.8/ 0.19
=5 6~ 9KFIZH(+5 A FH1{E(ppmC) 019 017/ o021] o017/ o017 o018 o019 o018/ 0.19] o0.19] o019 019 o0.19
e :E 6~ OBIE B _ 29 31 28 31 30 28 30 30 31 31 28 30/ 357
5 6~ O 3B F BN xS E(ppmC) 0.31] 0.24] 0.76] 0.26] 0.23] 0.24] 033] 026/ 045/ 039 037] 032 076
o 6~QH%SH%FaﬂquS{EQ%{E\{E(pme) 0.1/ 0.12] o0.12] o011] o011] o011] o0.14] o011 009 o008 012 008 008
B 6~ OB 3B EA 0.20ppmCEFEZ - B 9 3 10 4 4 9 6 9 9 12 13 12| 100
= |6~ OmE 3RFRITEH{ED 0.31ppmCEIBZT-HE 0 0 2 0 0 0 1 0 2 1 1 1 8
B 7 5 715]  741]  714] 735 738] 596] 712] 638] 723] 741] 649 742] 8444
(B EH1E(ppmC) 0.13[ o0.11] o016] 0.15] 0.14] o0.16] 0.12 01 o018/ o019 017 0.14] o015
= = |6~9BZHI+5 H F1E(pmC) 016/ 0.12| 0.18/ 0.15 0.5 0.18/ 0.14] 0.12] 0.8/ 0.21] 0.19] 0.16/ 0.16
% % |6 ~ OB Al E B 3k 30 31 30 31 31 24 29 26 28 31 27 31 349
o B |6~ 9k 3K FH{ED == fE(ppmC) 024 019/ o026] 023 02 025 0271 033] 035 039] 043] 034] 043
$E |6 ~ ORF SHE ] T ¥91E D R AEE(ppmC) 0.04| 006/ 005/ 006/ 008 ol o001] 003] 006/ 009 009 0.06 0
B |6~ O SHRREITEHEA 0.20ppmCHEEX F-HEX 4 0 10 2 0 9 3 2 12 15 10 7 74
6~ ORF3BFRE T HEA 0.31ppmCEHEAF-HEKX 0 0 0 0 0 0 0 1 1 1 2 2 7
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A2 FALKFE (NMHC: A Bl{iE)

|8l — T
g HHE TR 204 TERR214
5 _ 48 | 5B | 6A | 7B | 8B | 98 [10A [ 11B | 12B | 1A | 2B | 38 | &&
381 7E R R 718  740] 716] 741 741 658 721 718] 741 740 672 682] 8588
4 | B F191E(ppmC) 0.13] 0.14] 0.14] 0.14] o014 o017/ 017/ 0.5 o0.15 014 o0.16] 013 0.15
- H|6~98 (2175 A FHE(ppmC) 0.13] 0.14] o0.14] o014] o013] o0.16] 0.17] 015 015/ o016] 015 0.13] 0.15
5 N 6~9omAIEBE 30 30 30 30 31 28 29 30 31 31 28 28] 356
- B |6~ 93 T E N RS E(pmC) 017 o016] o021] o018 023 022] o021] 024 o021 078 021] o016 0.78
|6 ~ OBF SHE I T H{E D ZEE(ppmC) 0.11] 0.11] 003 0.1] 009/ 0.13] 0.13 0.1 0.1] 008] 005 0.1l 0.03
5|6~ O SHFEIFIEA 0.200pmCEIBAI-HE 0 0 1 0 1 2 1 1 2 1 2 0 11
6~ ORF BRI TFHEA 0.31ppmCE B A T- AKX 0 0 0 0 0 0 0 0 0 1 0 0 1
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© A4 (CH,: A RIl{E)

;ﬁT %" - 204 TR214E
B _ 47 5H 6 A4 182 8H 9H 108 [ 118 | 128 18 28 38 2t
i I 7E B f 647] 444 0 ol 621 678] 595 629 738] 744] 667] 728] 6491
i | A FE ) {E(ppmC) 1.84] 1.82 183 1.85] 186] 1.88 1.88] 1.91 19| 1.88] 187
& | = 6~9&%(:§(+§>ﬁ T 15 {E(ppmC) 1.85 1.83 185 1.87] 187] 189 191 193] 193] 191 189
| 2 6~9mAIE BE ___ 27 19 0 0 26 29 24 26 31 31 27 30/ 270
= 6~ OB 3K FH{E D &x = fE(ppmC) 1.94] 1.89 197 1.99] 1.98] 204 216 21| 204 198 216
6~ ORI T IHENRIEfEQEEmC) | 181 178 1.76] 1.75| 182 1.81[ 181] 182 184 183] 175
KA E R 704 732 708] 730 731] 693] 730 695 731] 726] 620] 728] 8528
g|E A FE ) {E(ppmC) 185 183] 182] 178 179 181] 185 186 187 187 187 188 184
o B (6~9KIZEIT5 A F5{E(ppmC) 1.86] 1.83] 1.82] 1.79 18] 181] 185 187 187 188] 188 189 184
e /N6~ 9AIE B2 27 29 29 28 28 29 31 29 28 31 25 29| 343
% |6 ~ OFF SR T H51{iE D ix = fE(ppmC) 194 188] 186] 187 192] 188] 189 197[ 194] 194] 192 194 197
1|6~ ORI F I EDHZIE EQ@EemC) | 181] 1.73] 1.72] 1.72| 1.73| 1.74] 1.81] 179 1.83| 1.82| 183 18] 172
¥[8 % B 694] 744] 719 744] 742] 720] 744 686] 736] 701] 672] 741] 8643
i | A FE 1B (ppmC) 197 195 195 197 199 203] 205 204 204] 203 203 201] 201
- |6 ~9FIZH+5 A B (ppmC) 198 1.96] 1.96 2| 201 204 205 206] 205 205 205 204 202
. B |6~ 9:BIE B 3K 29 31 30 31 31 30 31 29 31 29 28 31| 361
HE (6 ~ O R SRR T H51{iE D ix = fE(ppmC) 2.08 2| 205 205 213 21| 214 224 217 2271 217 214] 227
516~ ORI EMENREMEpmC) | 193] 191 1.88] 1.94] 193] 197] 198 1.99] 1.99] 1.93] 198 195/ 1.88
a0 B 7 B i 715 741  713]  715] 718] 713] 742 702] 619] 743] 672 733] 8526
s A F 1B (ppmC) 1.97] 1.91 19 196] 1.86] 194 199 201] 203 195 193] 189 194
5 | e 6~9E#(:}5(+/5H 1918 (ppmC) 2.1 2| 195 211 195 206] 212 211 219 207 204 197 205
Eeal 6~ 9l B &k _ 30 31 30 30 29 30 31 29 26 31 28 31| 356
B 6~ 9B 3K F B D ix = fE(ppmC) 2.51 23| 247 264 236] 243] 242] 249 254] 239 229] 223 264
6~ O ENEDREEEmC) | 185 1.74] 175 1.73] 1.72] 175 1.78] 1.72| 1.83] 1.79] 18] 18] 1.72




q9

*A%> (CH,: B RIl{E)

| A T b T b
By | EE F L2045 FRE214
B _ 48 | 58 [ 68 | 7R | 88 | 98 [108 | 11A | 128 | 1A | 28 | 38 | &&t
& [HI7E B 710] 727 706] 726] 736] 682 728] 718] 741] 739] 668] 739] 8620
= ;g A F ¥ {E(ppmC) 184 182 18| 174[ 173] 179 1.83| 186 1.88] 187 1.89] 187 183
15| i (6~ OB 1513 5 H 19 {E(ppmC) 191 188 184 18] 176] 1.86] 1.92] 194[ 1.94] 193] 1.94] 192] 1.89
| & [6~ 9k AIE H 29 31 28 31 30| 28 30 30 3t 31 28 30| 357
# (6~ OB S TEHIENZESEPEemC) | 211 206] 21[ 202] 195 206 207 217[ 216] 217] 21| 216] 217
5|6~ ORs SR EDZIE E(EemC) | 175 1.72] 1.68] 1.64[ 1.64] 165 177 179 177 1.78] 1.78] 1.8] 1.64
7 B 7 B i 715] 741 714[ 735] 738] 596| 712] 638] 723] 741 649 742 8444
= | = | BB (ppmC) 189 183 185 18[ 18] 1.83] 1.86] 1.9 192] 1.91] 1.94| 192 187
5| 1B |6~ OBF =853 & H 19 (ppmC) 196] 1.89] 188 185 183 19| 1.91] 195 1.96] 1.95 1.99] 197] 1.92
H’;_ B |6~ 9kFAIE Bk 30 31 30 31 31 24 29 26 28 31 27 31| 349
|6 ~ Ol BRI FIMBED R EBE(EmC) | 2.11) 201[ 202| 2.01 2| 208] 1.99] 212 21| 211] 216] 2.13] 2.16
516~ K3 EMENREMEPpmC) | 1.82] 175 1.74| 1.73] 1.73| 166] 1.82] 1.8 1.83] 1.84] 1.86] 1.86] 1.66
A | B E B 718] 740 716] 741| 741] 658 721] 718] 741 740 672] 682| 8588
= | B | BB (ppmC) 185 185 1.83| 1.78] 177] 187 1.92| 194[ 1.98] 197 1.96] 192] 1.89
iz |/ |6~ 9BF =513 5 H 19 (ppmC) 1.89] 19| 185 1.83] 18] 1.91] 1.95] 199] 202] 201 2| 1.95] 1.93
H’;_ B |6~ 9FFAIE B 30 30 30 30 31 28 29 30 31 31 28 28| 356
Hel6~ oS EHENRSEEemC) | 199] 206 1.97] 205[ 199] 211 207[ 2.15] 2.18] 217| 215 204] 2.18
5|6~ K3 ENENREMEEpmC) | 181] 1.76] 1.71] 169 17| 177] 1.8 1.87| 19| 1.89] 1.89] 1.88] 1.69
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£ RAbkFE (THC: B RIfE)

A

T - -
Ay | 5 EE TR 204 TERi214

B _ 48 | 58 [ 68 | 7A | 8A [ 98 |10A | 11A [12A | 1A | 2A | 38 | Hit

i B 7E R R 647| 444 0 ol 621 678] 595 629] 738] 744] 667] 728] 6491

i | B F15{E(ppmC) 1.93 1.9 191 193] 194] 195 196] 199] 198 196 1.95

& | 2 6~9KFIZH 15 A Fi{E(EpmC) 1.94 1.9 1.94] 194 195/ 195 199] 201 201] 198 196

| 6~ OFFEITE HE _ 27 19 0 0 26 29 24 26 31 31 27 30 270

= 6 ~ OFF 3K T 516 D ix = fE(ppmC) 208 203 208 214] 214 216] 239 232] 219 2.15] 239

6 ~ OB 3 ] T 4 {E D K fE (ppmC) 1.86] 1.84 1.83 18] 188] 185 186 184 187] 1.88 1.8

X [CAIE B e 704] 732 708 730 731] 693 730 695 731 726] 620] 728 8528

5 F B F5{E(ppmC) 189 186] 186] 1.82] 1.83] 187] 188 1.9 19] 191 192] 195 188

-~ A |6~9BIZH+5 A FHE(pmC) 19] 187] 186 183 184] 187] 188 191 191] 193] 193] 196/ 1.89

Fﬁ N6~ oREEIFE B2 27 29 29 28 28 29 31 29 28 31 25 29] 343

% (6~ R 3K FH{E D ix = fE(ppmC) 202 193] 192] 193] 198] 198 195 204 209 211] 1.99] 202] 2.11

1|6 ~ OBF 3B T3 {E D R IR {E(ppmC) 187 1.73] 174] 176 177 178] 183] 183 186] 185 187 187 173

1 LALE B 694 744] 719 744 742] 720 744] 686] 736] 701 672 741] 8643

i | B F15{E(ppmC) 213 21 215] 215] 218] 221 224 223 224] 222 219] 221] 2.19

- [l |6 ~9kK5IZHI1+5 A Fi{E(ppmC) 219] 214 22| 222 223] 228] 227 23] 228] 227] 228 23] 225

- B |6~ 9F:AIE B 29 31 30 31 31 30 31 29 31 29 28 31] 361

BE |6 ~ O 3K fE FHE D &= & {E(ppmC) 241 2271 239 241] 239 292 244 282 265 276] 262] 261] 292

[ |6 ~ 9 B BB [E] T 35 {E D F AR {E (ppmC) 206] 201 206] 209 209 208 211] 212 212 199 208] 211 1.99

Pk AR B 715 741  713]  715]  718] 713  742] 702] 619] 743] 672] 733] 8526

|1 B F15{E(ppmC) 218] 209 215] 248] 201 204 21] 216] 221] 205 205/ 196 212

5 | 6~95%|:35(+{;)E] I 5 {E(ppmC) 2371 223] 218] 267] 213] 218] 228] 232] 246] 225 221 209] 2.28

eal 6~ OFAIE HER 30 31 30 30 29 30 31 29 26 31 28 31| 356

B 6~ ORF SHFfE T 1B D iz = fE(ppmC) 289 285 289] 334 2721 261 271] 279 3.17] 285 272 263] 334

(6~ ORF 3R F B D FIE{E(pmC) 194 187] 181] 204 177 181] 188 194 185 183] 1.83 1.8 1.77

= |8l 5E B ] 7101 7271 706 726 736] 682] 728 718[ 741] 739 668] 739] 8620

= ;g B F15{E(ppmC) 202] 201] 201] 192] 191] 198 202] 204] 208 205 209 206] 202

5| 6~9KFIZE 158 F1{E(EpmC) 211 205 206] 1.97] 193] 204] 211 212 213] 212] 213] 211] 207

7| & (6~ O AIE B 2K 29] 31| 28] 31 30 28] 30 30| 31| 31| 28] 30| 357

4 |6~ OB S EHENRSEEemC) | 237 23] 286] 221] 212 23| 2.26] 243[ 247| 256] 247 247| 2.86

5 |6 ~ 9O FF 3B ] F I E D FR K fiE (ppmC) 1.87 19| 1.82] 176] 1.77 1.8 1.93 19 186] 186] 192 188 1.76




LS

uH_P

iRAbKFE (THC: A RBIfE)

S~
Sm
|

i T et T e

iy | = EHE TR 204E TRE214E

B _ 48 | 58 [ 68 | 7A | 8A [ 98 |10A | 11A [12A | 1A | 2A | 38 | Hit
GBI e B R 715]  741]  714] 735] 738 596] 712] 638] 723] 741] 649] 742 8444

= = | B FE159{E(ppmC) 202 195 201] 1.94] 194 2] 198 2 2.1 21 211 206] 202

& |6 ~ 9B (2H 115 A FH{E(ppmC) 2.11 2| 206] 201] 1.98] 208] 205] 207 214] 216] 2.18] 2.13] 2.08

e B (6~ 9B H#K 30 31 30 31 31 24 29 26 28 31 27 31| 349
HE (6 ~ ORF S F 1B D ix = fE(ppmC) 231 215 226] 219] 218] 228] 222 245 2371 244] 258] 247] 258
[5 |6 ~ QB 35 [H F HE D KB (ppmC) 1.86] 1.84] 1.81 18] 1.83] 175 191 191 193] 1971 196 194 175
4 | E B 718] 7401 716] 741] 741 658 721] 718] 741] 740 672] 682 8588

= B | A F8{E(ppmC) 1.98] 199 197 192 191] 204] 209] 209] 213 211] 211 205/ 203

5 IN6~9BICEI1T5 A FEHIEEPmMC) 202] 203] 199] 196] 1.94] 207 212] 214] 218 217 215 208] 207

s B |6~ 9F:AIE B 30 30 30 30 31 28 29 30 31 31 28 28] 356
HE [6 ~ ORF S T {E D ix = fE(ppmC) 216 221 215 221 215] 233] 224 232 234 279] 234 22| 279
[5 |6 ~ 9B 3E5H F HE D X B (ppmC) 192 1.91] 1.79 18] 1.79] 192] 203 202 201] 202] 193] 201 1.79






